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1 385 488 A 2E& |2 A4F
1-1. FEHY HZYEl
o< Zct Fe ®ojrt g Eo|ct L po]ct O Lsect

2 0 1 7 7.7 32.8 33.0 21.1 5.4
< X o g >

A x| 9 9.9 37.3 331 181 16
B x| 9 43 26.0 329 25.7 111
< M H >

et Xt 104 374 28.5 187 5.0
of Xt 51 284 372 235 5.8
< % =g >

ES Z 0.6 174 37.8 339 10.2
5 Z 141 356 315 16.5 23
i Z 10.2 40.7 306 157 2.8
CH = 138 52.2 27.3 51 15
< %Yo

o 2| eS| 81 341 347 231 0.0
MEIEHET 6.2 61.6 24.6 7.6 0.0
At 2 eS| 237 36.8 335 59 0.0
A H A& Hoof A 44 594 28.0 7.2 1.0
s 8 = A X 2.2 315 413 20.5 45
IesHd 7| A=A 6.4 634 28.0 21 0.0
= F OF 6.7 40.5 41.8 9.9 1.0
7 = o= 3.2 214 343 31.0 10.1
7] E} 20.6 223 224 274 73
< o = 9w

15 ~ 19 A 52.7 345 1238 0.0 0.0
20 ~ 29 WA 244 39.0 17.5 191 0.0
30 ~ 39 A 6.5 62.7 28.6 22 0.0
40 ~ 49 A 174 394 228 151 54
50 ~ 59 N 15 45.8 40.6 10.9 12
60 M o A 0.3 18.2 38.1 334 10.0
65 M o A 0.3 14.2 37.7 36.5 113
<7HMel ERE>

obE = EM 3.5 26.5 34.8 26.2 9.0
Of o} E 0.0 55.7 328 115 0.0
a & F= H 15.6 479 26.7 3.0 6.8
CF M of = Ef 333 66.7 0.0 0.0 0.0
7| E} - - - - -
<h7 BEILS>

100 @+ @ o gt 17 154 337 35.2 14.0
100~200 2@l O] 3t 54 337 37.6 19.0 44
200~3002F @l O] Gt 115 493 273 91 2.8
300~400 2t O] 2t 0.0 50.3 311 15.9 27
400~500 2+ O] 2t 0.0 65.4 34.6 0.0 0.0
500~600 2t O] 2t 196 64.8 15.6 0.0 0.0
600~700 2+l O] Gt 0.0 100.0 0.0 0.0 0.0
700 @t @ o] & 0.0 311 68.9 0.0 0.0
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1-2. AERA QIA H

CHEHS| BO| =721Tt Ol =77|= #o|ct Z=g =7ls oot Aol L=a|X| G=tt

2 0 1 7 2.8 18.5 57.5 21.2
< x o ¥ >

A x| e 1.0 129 63.1 231
B x| e 54 26.9 49.2 18.5
< M H >

=1 Xt 3.2 19.6 56.7 20.5
o] Xt 24 17.5 58.2 219
< % 3 o8 >

E S 29 139 551 281
= S 16 240 51.6 227
i S 3.0 246 57.7 14.7
CH = 32 145 67.9 144
< F o E >

Zt 2| x| 9.2 143 61.3 15.2
MEJZ=HE7 0.0 9.6 84.3 6.2
At 2 x| 0.0 30.7 51.9 17.5
M H A& T Of % 22 30.3 58.0 9.5
s 8 = ¢ 3 3.9 14.8 58.0 233
s, 7| Ax=EL 0.0 293 271 43.6
o= = 2 3 0.0 235 67.2 94
¥ OF 2 27 1255 57.6 27.2
7| Ef 32 234 51.9 215
< o =5 4" >

15 ~ 19 A 0.0 174 59.3 23.2
20 ~ 29 AN 0.0 36.6 48.6 14.8
30 ~ 39 A 0.0 17.6 71.7 10.7
40 ~ 49 N 74 23.7 59.4 9.4
50 ~ 59 A 16 19.6 59.2 19.6
60 Al o] A 3.2 13.7 54.8 28.2
65 A o] A 35 14.2 537 28.7
<HXMO ZRE>

o5 F Hf 4.0 15.5 54.1 264
o} ot E 0.0 25.8 74.2 0.0
a 8 F EHf 43 219 66.6 7.3
Ct M CH Z= EH 0.0 0.0 66.7 333
7] Ef - - - -
<7t 8Ea5>

100 2t @ o ot 3.9 15.2 51.8 29.0
100~200 2+ 0O Tt 19 15.7 60.4 220
200~3002+H& 0O ot 9.2 20.8 533 16.6
300~4002+ O] ot 16 211 62.3 14.9
400~500 2+ Of 3t 4.2 154 58.1 223
500~600 2+ 0O ot 0.0 19.6 804 0.0
600~7002+& 0O Tt 0.0 0.0 100.0 0.0
700 - & o] & 0.0 236 764 0.0
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2 0 1 7| 17.0 328 7.4 10.7 11.2 3.0 4.5 13 1.6 0.4 9.9
IR
A X| Al 14.0 28.6 10.7 111 13.2 23 6.2 2.2 19 0.7 9.1
B X| Al 215 39.1 2.6 10.2 8.2 4.0 21 0.0 11 0.0 111
< M H >
Lk AH 117 28.9 12.6 5.9 17.6 03 7.1 16 29 0.7 10.6
o AH 219 36.5 2.6 153 52 55 21 1.0 04 0.2 9.2
<% onog s
= Z| 26.0 40.1 21 5.9 4.5 18 2.8 03 0.7 0.0 159
= Z( 123 29.8 7.6 211 11.8 39 4.2 03 03 2.6 6.1
ni Z( 10.5 29.5 10.5 9.7 174 23 7.0 0.8 3.7 0.0 8.6
CH Z| 112 24.5 147 13.8 16.1 59 5.0 54 15 0.0 19
<% oy >
ot 2| 2l 00 16.7 258 6.2 19.7 9.2 143 8.1 0.0 0.0 0.0
MEIJL,ZEHMEIH 125 24.1 7.1 216 16.6 0.0 14.0 0.0 0.0 0.0 4.0
N =2 2l 128 211 22.2 12.7 13.7 0.0 4.7 6.9 59 0.0 0.0
M H A T Of E| 9.2 19.3 16.8 124 15.6 73 6.7 0.9 0.9 0.0 109
s &8 = 4 A 177 32.0 5.6 9.0 16.2 2.2 4.8 1.0 12 03 10.1
Il 7| A =2 129 40.3 5.6 0.0 129 0.0 15.0 33 5.6 0.0 45
o = 2 X 263 416 9.3 19 6.4 0.0 47 0.0 11 0.0 8.7
7 A = H| 230 42.5 16 10.5 3.2 3.7 16 15 0.2 0.0 123
7| EH 13.6 316 8.4 131 10.7 2.8 2.7 0.5 3.7 18 111
< o =, ¥
15 ~ 19 M| 47 17.0 10.8 36.1 0.0 113 7.7 0.0 0.0 7.7 47
20 ~ 29 M| 126 26.8 7.1 151 14.2 49 2.6 2.6 7.1 0.0 7.1
30 ~ 39 M| 178 15.2 214 15.6 10.7 4.4 8.5 6.4 0.0 0.0 0.0
40 ~ 49 M| 65 313 139 115 14.2 53 45 2.5 2.7 0.0 7.6
50 ~ 59 A|| 838 32.8 6.9 126 226 2.3 7.4 0.0 12 04 49
60 A O] A+ 257 38.7 3.2 54 54 12 2.9 0.5 0.9 0.0 159
65 A o] A 278 395 21 4.3 3.5 10 3.0 0.3 10 0.0 175
<Hxel BRE>
L = =F EHl 194 354 5.6 55 121 12 4.7 11 14 0.0 137
(o3 o} E| 169 211 8.7 183 194 0.0 125 0.0 29 0.0 0.0
o 2l ES EHl 1.3 10.0 315 136 213 0.0 8.1 3.8 3.8 0.0 6.6
oM o = | 00 00 667 00 0.0 0.0 00 333 00 00 00
7| el - - - - - - - - - - -
RETTEVER
100 2+ & o] g 271 435 19 2.5 2.5 0.7 2.6 04 11 0.0 17.7
100~2002t&l O] gt 129 30.1 9.9 7.1 19.8 14 57 04 2.3 0.0 104
200~3002t2l Ojotf 8.7 119 143 126 309 21 10.8 11 3.6 0.0 39
300~4002t< OjgH 10.0 19.8 11.2 6.0 30.6 0.0 143 4.1 0.0 0.0 41
400~50082+Ql O3 56 23.6 26.5 8.0 8.5 0.0 12.0 7.3 0.0 0.0 8.5
500~6000t% Ojgt 59 0.0 19.6 64.8 0.0 0.0 0.0 9.8 0.0 0.0 0.0
600~7002+21 OjOH 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 9t 2 O] & 0.0 27.3 18.0 0.0 23.6 0.0 0.0 311 0.0 0.0 0.0
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2 0 1 7| 10.1 1.2 4.5 1.4 4.5 2.3 5.6 2.4 28.7 19.7 6.9 12.6
< X 9 ¥ >
A X| ol 6.8 1.6 6.2 2.2 3.7 3.7 6.7 3.3 31.7 15.5 7.0 116
B N ol 15.1 0.6 19 0.3 5.8 0.3 41 1.2 24.2 25.9 6.6 14.0
< M H >
Lk XH 6.3 14 4.6 2.8 9.3 4.0 6.8 21 20.9 204 7.9 135
o XH 13.7 11 43 0.2 0.1 0.7 4.6 2.7 36.0 19.0 5.8 11.7
< 8 7 ¥ >
= Z| 55 0.0 2.3 0.0 0.6 1.2 16 0.1 38.1 26.2 6.0 18.3
= Z| 165 31 5.3 14 3.0 45 7.3 0.6 26.1 179 6.6 7.8
i Z| 9.2 0.5 7.3 3.9 114 34 9.2 5.0 211 114 3.5 141
CH Z| 164 34 43 0.7 41 1.2 77 53 21.6 19.6 14.2 15
< X o 4 >
2t 2| Xl 154 0.0 116 0.0 0.0 0.0 8.1 8.1 16.7 204 8.1 116
MEJLZHEIH 46 2.6 8.8 0.0 34 3.0 21 15.8 26.6 9.3 17.5 6.5
N =2 Xl 159 9.8 3.0 3.0 0.0 0.0 18.3 24 199 13.0 12.8 2.0
M H A T of =] 193 19 8.5 15 3.2 0.0 10.5 29 24.6 13.8 3.5 10.5
= 2 £ A A 70 0.8 3.5 0.9 3.6 0.6 4.6 0.6 31.2 26.3 7.5 134
Jlsd, 7| A =2 109 0.0 0.0 5.6 0.0 0.0 14.5 0.0 33.8 28.8 0.0 6.4
Ch = &= 2 X 90 0.0 45 0.0 5.8 0.0 19.0 23 24.3 20.0 6.5 8.7
7t S| ES Hl 86 0.3 4.0 0.0 0.2 12 18 2.0 37.6 23.1 5.5 15.8
7| E 11.8 1.1 34 4.0 14.3 89 3.8 2.0 19.0 11.7 6.5 13.6
< o H 4 >
15 ~ 19 Al 318 47 77 0.0 108 155 7.8 0.0 47 47 47 7.8
20 ~ 29 M|| 198 0.0 0.0 7.1 26.2 7.1 77 2.6 12.8 2.6 7.1 7.1
30 ~ 39 M| 86 2.1 2.1 2.1 4.2 4.2 15.6 10.8 17.3 17.3 155 0.0
40 ~ 49 M| 14.9 34 73 18 49 0.0 121 79 17.8 11.7 79 10.3
50 ~ 59 A|| 105 2.1 73 04 2.7 09 6.3 13 32.2 215 7.1 79
60 A (o]} A 4.8 0.0 34 0.6 0.5 12 13 0.2 37.5 26.3 5.0 19.1
65 A (o]} A 40 0.0 3.2 04 04 14 0.7 0.3 38.1 26.2 45 20.8
<HKO ERE>
Ct = ES EHl 5.0 0.5 3.5 0.7 2.8 13 47 1.0 324 245 5.7 18.1
(o3 o} E| 38 9.7 12.2 29 3.8 0.0 111 141 13.2 8.0 21.2 0.0
o = ES EH]l 19.8 3.8 6.8 3.8 29 0.0 93 0.0 17.6 13.2 121 10.9
Ct M of Z= | 00 0.0 0.0 0.0 0.0 333 0.0 0.0 333 0.0 33.3 0.0
7 EH - - - - - - - - - - - -
<7}T HWFLE>
100 2+ & 0] g 3.8 0.0 3.7 0.6 0.7 16 09 04 38.0 25.0 3.5 21.7
100~2002tL O]t 45 29 51 1.2 4.0 0.7 7.6 2.7 27.1 215 74 15.3
200~3002t2l O] 143 0.0 4.6 29 11.0 24 5.5 44 18.3 21.7 59 9.0
300~4002tL O]t 6.9 0.0 41 0.0 0.0 3.1 195 3.1 23.0 19.7 16.6 41
400~5002+HQ O/ 2+ 9.8 5.6 4.2 0.0 0.0 0.0 19.3 5.6 215 20.5 8.0 5.6
500~6002t% O|OH 9.8 9.8 0.0 0.0 0.0 0.0 9.8 0.0 9.8 59 55.0 0.0
600~7002t2l Oj2H 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 Ot 2 O | 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 311 0.0 50.9 18.0
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3-1. H7|Hol 25uE
Jo] of2 2z o Yxdol | ojFdof el el
MY HE otH HE& ot HE oHH HE& SHA| B=CH

2 0 1 7 20.2 25.7 11.6 24 4.0 36.1
< x 9o ¥ >
A x| 9 17.0 283 14.0 25 3.8 344
B x| 9 25.0 218 8.1 22 43 38.6
< M H >
=1 Xt 219 29.0 12.0 17 37 318
o] Xt 18.6 227 11.2 3.0 43 40.1
< % 3 o8 >
E S 242 184 7.9 29 1.9 447
= S 16.6 240 15.2 2.6 43 374
i S 213 323 115 2.6 4.5 277
CH S 12.8 335 16.9 0.6 77 28.6
< F o E >
z 2| x| 15.2 420 19.7 0.0 0.0 231
MEJE=HE7 109 29.6 235 5.0 10.6 204
At 2 x| 8.7 36.5 13.7 44 0.0 36.7
M H A& T Of % 13.0 294 13.8 1.9 14.8 27.0
s 8 = & 3 227 204 13.0 22 27 39.0
e’ 7| A= 216 220 18.5 6.4 0.0 315
o= = 2 3 137 209 6.0 6.7 21 50.6
¥ OF 2 244 239 6.3 23 2.5 40.5
7| Ef 211 30.8 121 0.7 2.5 328
<@ 3y >
15 ~ 19 A 6.2 376 26.7 0.0 31 264
20 ~ 29 AN 16.7 43.0 12.6 0.0 124 153
30 ~ 39 A 4.2 283 17.1 6.6 6.4 374
40 ~ 49 N 142 28.7 12.9 3.8 8.0 324
50 ~ 59 A 23.7 29.2 10.3 2.6 31 311
60 Al o] A 24.8 181 91 1.9 14 44.8
65 A o] A 236 16.2 8.9 1.7 16 48.0
<HXMO ZRE>
o5 F Hf 246 20.0 10.5 21 2.8 40.0
o} ot E 0.0 359 273 6.6 15.6 14.6
a 8 F EHf 218 37.5 15.8 0.0 0.0 249
Ct M CH Z= EH 333 0.0 0.0 0.0 333 333
7] Ef - - - - - -
<7 YHFAE>
100 2t @ o ot 24.8 16.0 7.2 2.8 19 47.3
100~200 2+ 0O Tt 236 210 16.5 22 7.2 295
200~3002+H& 0Of ot 214 26.5 20.8 21 42 250
300~4002+ O] Tt 139 285 143 0.0 0.0 433
400~500 2+ O] 3t 157 413 4.2 37 5.6 294
500~600 2+ 0O ot 0.0 90.2 9.8 0.0 0.0 0.0
600~7002+& 0O Tt 0.0 100.0 0.0 0.0 0.0 0.0
700 - & o] & 453 0.0 0.0 0.0 0.0 54.7
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1A1Zt ojat 1~3A|2¢ Oj2t 3~5A(Zt Ojgt 5~7A|Zt ojat TAIZE Ol%

2 0 1 7 57.0 17.6 10.9 6.6 7.8
< x 9o ¥ >

A x| e 54.0 20.8 13.2 42 77
B x| e 61.7 12.7 7.6 10.2 7.9
< M H >

=1 Xt 51.3 21.0 10.7 6.7 10.3
o] Xt 62.5 14.4 11.2 6.5 55
< % 3 o8 >

E S 62.1 111 124 84 6.0
= S 56.5 18.6 14.6 5.8 4.6
i S 54.2 20.2 7.6 4.7 133
CH S 50.6 27.2 9.5 6.3 6.3
< F o E >

Zt 2| x| 50.8 17.1 19.7 6.2 6.2
MEJE=HE7 524 324 2.6 10.6 21
At 2 x| 61.1 16.6 193 3.0 0.0
M H A& T Of % 56.3 248 7.7 5.0 6.1
s 8 = ¢ 3 59.8 15.6 9.5 7.1 8.0
s, 7| Ax=EL 37.0 312 10.9 6.4 144
o= = 2 3 68.4 7.8 111 39 8.8
¥ OF 2 58.1 141 129 9.0 5.9
7| Ef 525 18.5 118 4.0 13.2
< o =5 4" >

15 ~ 19 A 43.8 345 155 31 31
20 ~ 29 AN 56.8 16.7 9.7 0.0 16.7
30 ~ 39 A 59.0 32,6 42 21 21
40 ~ 49 N 60.1 19.7 104 4.1 5.7
50 ~ 59 A 514 16.2 9.4 113 116
60 Al o] A 60.5 131 124 7.7 6.3
65 A o] A 64.2 111 12.0 74 53
<HXMO ZRE>

o5 F Hf 58.2 14.2 114 79 8.3
o} ot E 62.6 337 1.7 20 0.0
a 8 F EHf 339 317 12.6 5.9 15.9
Ct M CH Z= EH 66.7 333 0.0 0.0 0.0
7] Ef - - - - -
<7t 8Ea5>

100 2t @ o ot 64.1 12.2 10.0 7.1 6.6
100~200 2+ 0O Tt 58.2 135 11.0 9.3 8.0
200~3002+H& 0Of ot 44.5 284 74 5.6 14.0
300~4002+ O] Tt 514 26.8 7.1 41 10.7
400~500 2+ O] 3t 451 135 29.2 8.0 4.2
500~600 2t ¢l O] 3t 0.0 804 19.6 0.0 0.0
600~7002+& 0O Tt 0.0 100.0 0.0 0.0 0.0
700 - & o] & 727 0.0 0.0 0.0 273
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41 927 0|8 UEE

= U =9 a5

oz 0|83t oz 7| & RMHIA BEE | oz I;:a

71 . X3t [stol 212 oy

N8 | 27 | B2 |50 oy | @ |waa| o= | 71t | oz | w8 | 2o | 8

S I T VP

2 0 1 7/ 88.6 100.0 13.3 700 21 0.9 6.5 7.2 00 723 231 46 14 10.0
<% oo oE >
A N o] 862 1000 120 698 17 0.5 6.9 9.0 0.0 723 241 3.6 12 12.6
B N o] 921 1000 152 703 2.6 14 59 4.6 0.0 723 217 59 16 6.2
< M H >
Lk XH 86.5 100.0 148 66.5 2.3 0.7 5.2 10.5 0.0 702 231 6.7 13 123
o:! XH 90.6 100.0 120 732 19 11 7.6 4.2 0.0 742 232 2.7 15 7.9
<o og >
= Z£] 938 1000 146 719 0.6 14 94 2.2 0.0 81.6 16.9 16 0.7 5.5
= Z£| 90.6 100.0 133 680 11 0.5 4.0 131 0.0 731 256 13 2.0 74
| Z£| 85,5 1000 121 701 44 0.8 44 8.1 0.0 627 268 105 13 13.2
]| Z| 79.8 1000 120 673 31 0.0 49 12.7 0.0 631 310 6.0 25 17.7
<y g g >
2t 2| Z%l1 857 1000 6.3 66.3 10.8 0.0 0.0 16.6 0.0 60.7 128 265 0.0 14.3
MEZHZE™E7H 909 1000 71 67.7 5.7 0.0 3.7 15.8 0.0 68.7 313 0.0 0.0 9.1
A =2 Xl 752 1000 3.0 86.6 3.2 0.0 3.9 3.2 0.0 40.1 505 94 0.0 24.8
M H A = Of =f80.5 1000 113 744 18 0.0 14 111 0.0 678 252 7.0 25 171
= 2 £ At X840 1000 158 64.6 2.3 12 113 47 0.0 772 210 17 3.2 12.8
I, 7| A =%221100.0 1000 129 684 5.6 0.0 43 8.9 0.0 542 402 5.6 0.0 0.0
Ch &= L 82 X189 1000 144 586 8.2 0.0 6.8 12.0 0.0 62.7 373 0.0 0.0 18.1
7t S| ES H1 950 1000 133 741 0.7 15 77 2.7 0.0 824 15.7 19 09 4.2
7| EH 93.8 1000 146 701 0.5 0.7 2.7 115 0.0 655 244 10.2 0.0 6.2
< o 3 ¥ >
15 ~ 19 A|| 95.3 1000 0.0 87.0 0.0 0.0 0.0 13.0 0.0 586 414 0.0 0.0 4.7
20 ~ 29 A|| 87.8 1000 8.5 66.8 0.0 0.0 0.0 24.7 0.0 581 201 2138 2.6 9.7
30 ~ 39 A|| 80.5 1000 53 64.8 2.7 0.0 54 21.8 0.0 56.6 40.7 2.6 21 17.3
40 ~ 49 M| 794 1000 10.8 66.7 9.8 09 6.2 5.6 0.0 615 299 8.6 3.9 16.7
50 ~ 59 A|| 828 100.0 158 696 1.7 0.6 54 6.9 0.0 706 25.0 44 0.0 17.2
60 A O A 945 1000 165 705 0.7 12 9.0 2.1 0.0 814 17.2 14 1.0 45
65 A O] A+ 953 1000 169 707 0.6 1.0 9.0 18 0.0 821 16.6 14 09 3.8
<ANe ZRE>
Ct = ES EH| 89.7 1000 17.7 665 24 12 84 3.8 0.0 780 20.0 21 11 9.2
o} o} E[ 962 1000 23 71.6 51 0.0 4.0 17.0 0.0 66.1 30.9 3.0 0.0 3.8
o = ES EHl 77.8 1000 8.8 82.7 0.0 0.0 0.0 8.5 0.0 645 235 120 4.3 17.9
Ct M Cf = EH100.0 100.0 333 66.7 0.0 0.0 0.0 0.0 0.0 66.7 333 0.0 0.0 0.0
7| | - - - - - - - - - - - - - -
R EETTIEN
100 2+ & 0] 9 952 1000 168 678 2.5 1.7 99 13 0.0 836 151 13 0.5 4.3
100~2002+% Oj Ot 85.8 1000 146 70.2 11 0.7 79 5.5 0.0 73.1 247 2.2 2.3 11.9
200~3002+Ql O] 81.3 1000 163 673 54 0.0 15 95 0.0 570 359 7.1 21 16.6
300~4002t2 OjOH 928 1000 8.0 77.2 4.4 0.0 6.1 44 0.0 724 203 73 0.0 7.2
400~5002+€l OJ2F 751 1000 339 555 5.0 0.0 0.0 5.7 0.0 604 340 5.7 0.0 249
500~6000t2 OjgH 90.2 1000 0.0 39.0 0.0 0.0 0.0 61.0 0.0 827 173 0.0 0.0 9.8
600~7002+Ql OjOH 100.0 100.0 00 1000 0.0 0.0 0.0 0.0 0.0 00 1000 0.0 0.0 0.0
700 Ot 2 O| 4f| 82.0 1000 712 288 0.0 0.0 0.0 0.0 00 1000 0.0 0.0 0.0 18.0
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gt | s | L0 | sy | @ s | ese
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2 0 1 7 6.0 13.7 4.5 0.0 48.0 17.7 4.5 5.5 0.0
< xNod o8 s

A N A 10.9 277 0.0 0.0 12.7 31.5 5.0 12.2 0.0
B N o 2.0 2.0 8.3 0.0 77.5 6.3 4.1 0.0 0.0
< M H >

Lk IN; 4.3 5.9 0.0 0.0 64.5 14.3 5.0 6.0 0.0
o IN; 9.9 31.0 147 0.0 11.3 253 3.5 44 0.0
<o o8 s

= = 214 223 15.0 0.0 8.0 0.0 15.5 17.8 0.0
= = 0.0 0.0 51.3 0.0 48.7 0.0 0.0 0.0 0.0
i = 49 6.7 0.0 0.0 69.8 9.8 3.8 49 0.0
CH = 0.0 31.1 0.0 0.0 11.7 57.2 0.0 0.0 0.0
<x oY ow >

2t 2| x| 35.6 23.8 0.0 0.0 0.0 40.6 0.0 0.0 0.0
MNEJL,ZEHE} 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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Ct M CH = EH 333 333 333 0.0 0.0
7 E} - - - - -
<7t7 H¥dAS>

100 Bt & o gt 423 29.9 24.7 16 15
100~2002t & O| gt 40.4 316 244 36 0.0
200~300 82l O] ot 40.7 30.6 27.8 1.0 0.0
300~4002t @l O] ot 233 326 441 0.0 0.0
400~500 ¢+l O] ot 4.2 57.5 38.2 0.0 0.0
500~6000t & O| gt 0.0 45.0 55.0 0.0 0.0
600~700 82l O] Ot 0.0 0.0 100.0 0.0 0.0
700 3t 2 O] At 82.0 18.0 0.0 0.0 0.0
A2 : ZAYE 120 AFB| AL, 20| 227t Y IR (FEHERE ML)
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9. 2 7=
9-1. EAH7IE |RF H U= 41 A= XY
Jbog ma M2 A7 Qe X/ M2 A7 Qs XUEE S
EANE | w5y om
A
(g) Bt Al BEAIE | =2IGHel) | EF Al BEAIZ | =232l

2 0 1 7] 171 14 40.6 56.1 3.3 55.8 77.3 4.5
<% o9 >
A x| ol 196 14 387 58.4 29 54.1 816 41
B x| ol 140 13 44.0 52.0 4.0 58.9 69.6 5.4
< M s>
- X 240 14 38.8 57.6 36 53.8 79.8 5.0
of X 87 13 4638 51.1 21 62.9 68.6 29
<% oH o8\ >
= 5| 80 13 467 51.7 17 60.9 67.4 22
=3 z| 228 13 433 533 33 56.5 69.6 43
in} z| 447 14 381 56.7 5.2 54.4 80.9 7.4
o} =| 239 15 320 68.0 0.0 471 100.0 0.0
< % 9w >
o 2| x| 333 15 16.7 833 0.0 25.0 125.0 0.0
M2, =827 333 16 143 78.6 71 222 1222 111
" =} x| 263 16 50.0 50.0 0.0 80.0 80.0 0.0
M H ~ = of & 404 18 37.8 54.1 8.1 66.7 952 143
5 8 2 A x| 209 13 494 483 23 63.2 618 29
57| AR 647 13 214 78.6 0.0 273 100.0 0.0
o2 = B x| 257 16 429 57.1 0.0 66.7 88.9 0.0
8 = 2| 66 12 52.4 476 0.0 64.7 58.8 0.0
7| el 65 11 182 72.7 91 200 80.0 100
< 9@ >
15 ~ 19 M| o0 0.0 0.0 0.0 0.0 0.0 00 0.0
20 ~ 29 M| o0 0.0 0.0 0.0 0.0 0.0 00 0.0
30 ~ 39 M| 71 3.0 0.0 100.0 0.0 0.0 300.0 0.0
40 ~ 49 M| 236 14 389 55.6 56 53.8 76.9 7.7
50 ~ 59 M| 578 15 426 56.4 11 63.5 84.1 16
60 M o Al 107 13 402 54.6 5.2 50.6 68.8 6.5
65 M o Al 79 12 459 492 49 54.9 58.8 5.9
<HXo SR>
o0 £ = = 161 14 44.0 53.8 22 59.7 731 3.0
ot il | 176 15 111 88.9 0.0 16.7 1333 0.0
o = = | 467 15 238 61.9 143 357 929 214
oM oof = e 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Ef - - - - - - - -
<It7 YWBAE>
100 2t @ o 9 70 1.2 60.0 356 44 73.0 432 5.4
100~20059) Of o 235 13 452 534 14 58.9 69.6 18
200~3000H9) Of Bt 391 14 282 64.1 7.7 407 926 111
300~40079 0|9t 548 15 154 84.6 0.0 235 129.4 0.0
400~5008t9 O/QH 619 18 435 52.2 43 76.9 923 7.7
500~600%% 0| ot 167 3.0 0.0 100.0 0.0 0.0 300.0 0.0
600~7002H% O/ Gt  100.0 1.0 0.0 100.0 0.0 0.0 100.0 0.0
700 ot 2 of M| 500 1.0 50.0 50.0 0.0 50.0 50.0 0.0
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mz 431 9k olg m2 41 9 0lR(EE 2T
S S
x| e [Prealazal w x| g [Eafaas]
ez oo | oL | EE | E | ey xmz| O | O | EE =
T9E) 291 | o | ® TNE 25 | oig | we

2 0 1 7/ 63.2 283 05 14 0.5 3.8 24 870 390 0.6 1.9 0.6 5.2 3.2
IR
A X| o1 591 3238 0.0 15 0.0 51 15 827 459 0.0 2.0 0.0 7.1 20
B x| o707 200 13 13 13 13 40 946 268 18 18 18 18 54
< M s>
=] XH 594 321 06 12 0.6 3.0 30 824 445 08 17 0.8 42 42
o Xt 766 149 00 2.1 0.0 6.4 00 1029 200 00 29 0.0 8.6 0.0
<%y s
= =|( 917 33 0.0 33 0.0 17 00 1196 43 0.0 43 0.0 22 0.0
= Z[ 633 200 33 0.0 0.0 33 100 826 261 43 0.0 0.0 43 13.0
ni E|( 485 433 0.0 1.0 0.0 5.2 2.1 691 618 00 15 0.0 74 29
CH Z( 520 400 00 0.0 4.0 4.0 00 765 588 00 0.0 5.9 5.9 0.0
R
2 2| 2l 66.7 333 0.0 0.0 0.0 0.0 0.0 1000 500 00 0.0 0.0 0.0 0.0
MEI,ZHEZ7H 429 429 00 0.0 7.1 7.1 00 667 667 00 0.0 111 111 00
At = 21 75.0 125 0.0 0.0 0.0 0.0 125 1200 200 00 0.0 0.0 00 200
M H A @b oj 2351 568 00 0.0 0.0 8.1 00 619 1000 00 0.0 0.0 143 00
s T = M A 678 230 11 11 0.0 34 34 868 294 15 15 0.0 44 44
Jls¥, 7| AX=ER| 714 286 00 0.0 0.0 0.0 00 909 364 00 0.0 0.0 0.0 0.0
o - B X786 214 00 0.0 0.0 0.0 00 1222 333 0.0 0.0 0.0 0.0 0.0
2 3 F EH|8.7 95 0.0 48 0.0 0.0 00 1059 118 00 5.9 0.0 0.0 0.0
7| Et|{ 636 9.1 0.0 9.1 0.0 9.1 9.1 70.0 100 00 100 00 10.0 10.0
< o 36 4#H >
15 ~ 19 A/ 00 00 00 00 00 00 00 00 00 00 00 00 00 00
20 ~ 29 H|00 00 00 00 00 00 00 00 00 00 00 00 00 00
30 ~ 39 M| 00 667 00 00 333 00 00 00 2000 00 00 1000 00 00
40 ~ 49 M|222 722 00 00 00 56 00 308 1000 00 00 00 77 00
50 ~ 59 A|532 372 00 11 00 53 32 794 556 00 16 00 79 48
60 A 0] Ak 825 103 1.0 2.1 0.0 2.1 21 1039 130 13 2.6 0.0 26 26
65 A 0] 4 89 6.6 0.0 33 0.0 16 16 1039 78 0.0 39 0.0 2.0 2.0
<AMe ERE>
o &  F  EH 659 253 0.5 16 0.0 38 27 896 343 0.7 2.2 0.0 52 37
of I} E[333 444 00 0.0 111 111 00 500 66.7 00 0.0 16.7 167 00
%] g F= Ef 524 476 00 0.0 0.0 0.0 00 786 714 00 0.0 0.0 0.0 0.0
Ct M CH = EHl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Bl - - - -

<7t7 HEBAE

v

100 ©F A 0O OH 822 67 2.2 44 0.0 2.2 22 1000 81 27 54 0.0 2.7 2.7
100~2002t@l Oj0H 726 192 0.0 14 0.0 55 14 946 250 00 18 0.0 71 18
200~3000H@l O|@H 487 462 00 0.0 0.0 51 00 704 667 00 0.0 0.0 74 0.0
300~4002t@l OjTH 577 346 00 0.0 0.0 38 38 882 529 00 0.0 0.0 5.9 5.9
400~5002HQ O] 2t 435 522 00 0.0 0.0 0.0 43 769 923 00 0.0 0.0 0.0 77
500~6002tel OjTH 0.0 667 00 00 333 00 0.0 00 2000 00 0.0 1000 00 0.0
600~7002+2] O|3H 0.0 0.0 0.0 0.0 0.0 0.0 1000 00 0.0 0.0 0.0 0.0 0.0 100.0
700 @+ & O] A 0.0 1000 0.0 0.0 0.0 0.0 0.0 0.0 1000 00 0.0 0.0 0.0 0.0
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9-3. Mz &1 Y= 7|
Mz &40 A= 7|2 Mz &0 A= 7|2HESE )
6712 670 | 1d~2 [ 2H~3 | 3H~5 su ol | 6742 670 | 1EH~2 | 2H~3 | 3E~5 514 0|
e I L I O O e et I = T - I N I
ojgk | ojge ook gk ojek | ok | oojgr | oofe

2 0 1 7| 6.6 5.7 7.1 18.9 13.7 48.1 9.1 7.8 9.7 26.0 18.8 66.2
< X o 8 >
A X| ol 73 44 44 219 16.8 453 10.2 6.1 6.1 30.6 235 63.3
B X| ol 53 8.0 12.0 133 8.0 533 7.1 10.7 16.1 17.9 10.7 714
< M s>
=1 AH 73 4.8 8.5 224 15.2 41.8 10.1 6.7 11.8 311 21.0 58.0
o XH 43 8.5 21 6.4 8.5 70.2 5.7 114 29 8.6 114 94.3
< 8 = o8 >
= Z=| 33 0.0 33 5.0 10.0 783 4.3 0.0 4.3 6.5 13.0 102.2
= | 6.7 33 33 10.0 20.0 56.7 8.7 43 4.3 13.0 26.1 73.9
i | 93 7.2 8.2 27.8 134 34.0 13.2 10.3 11.8 39.7 191 48.5
CH Z| 40 16.0 16.0 28.0 16.0 20.0 5.9 235 235 41.2 235 294
< % 98 >
2t 2| Zll 0.0 0.0 0.0 83.3 0.0 16.7 0.0 0.0 0.0 125.0 0.0 25.0
MEI,Z=ZHEIH 143 214 28.6 28.6 0.0 7.1 22.2 333 444 444 0.0 111
At L Zll 0.0 0.0 125 25.0 0.0 62.5 0.0 0.0 20.0 40.0 0.0 100.0
M H A T of &| 27 135 2.7 27.0 27.0 27.0 4.8 23.8 4.8 47.6 47.6 47.6
= 2 £ A Z| 92 23 4.6 195 16.1 48.3 11.8 29 5.9 25.0 20.6 61.8
s 7| A =ER 71 0.0 143 143 143 50.0 9.1 0.0 18.2 18.2 18.2 63.6
o2 B2 OX 143 7.1 7.1 0.0 7.1 64.3 22.2 111 111 0.0 111 100.0
7+ pS| S =100 0.0 48 0.0 9.5 85.7 0.0 0.0 5.9 0.0 11.8 105.9
7| EH 00 9.1 9.1 0.0 0.0 81.8 0.0 10.0 10.0 0.0 0.0 90.0
<@ 3w >
15 ~ 19 A|| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39 A|| 00 0.0 100.0 0.0 0.0 0.0 0.0 0.0 300.0 0.0 0.0 0.0
40 ~ 49 M| 00 111 0.0 66.7 111 111 0.0 154 0.0 92.3 154 154
50 ~ 59 A|| 106 9.6 10.6 25.5 191 245 15.9 143 15.9 38.1 28.6 36.5
60 A o A 41 1.0 21 41 9.3 79.4 5.2 13 26 5.2 11.7 100.0
65 A o] A 33 0.0 1.6 33 9.8 82.0 39 0.0 20 3.9 11.8 98.0
<AHo SRE>
ct = S EHl 6.0 6.0 44 17.6 143 51.6 8.2 8.2 6.0 239 194 70.1
(o]3 I} Ef 222 111 333 111 0.0 22.2 333 16.7 50.0 16.7 0.0 333
o 2l S EHl 438 0.0 19.0 333 143 28.6 7.1 0.0 28.6 50.0 214 429
CF M Cf = e 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| E} - - - - - - - - - - - -
<7t7 YEFAES>
100 9+ @ O] 9 44 2.2 22 2.2 15.6 733 5.4 2.7 2.7 2.7 189 89.2
100~2002tQl O] BH 123 55 41 164 41 57.5 16.1 7.1 5.4 214 5.4 75.0
200~3008t< O) Ot 26 0.0 7.7 28.2 28.2 333 3.7 0.0 111 40.7 40.7 48.1
300~4002tQl 0|2t 338 11.5 154 154 231 30.8 5.9 17.6 235 235 35.3 47.1
400~5002FQ O/ 3H 43 174 0.0 47.8 8.7 217 7.7 30.8 0.0 84.6 154 38.5
500~6002tQ! 0|2t 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 300.0 0.0 0.0 0.0
600~7008t< O]t 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 100.0
700 Bt 2 O] A o0 0.0 50.0 50.0 0.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0
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10. S @o| Xhof o

10-1. Xjio| cist

St

[
%L izt

BHH X

o mgH|

XHA 9| Cf st wSH| AtA < Cfsh@ w=H

dEoz Xe | YR XY | NP ¥ | MEeE X | UL XY | XY %S
2 0 1 7 75.9 23.0 1.2 42.7 48.7 8.6
I
A N o] 80.9 18.5 0.6 413 48.5 10.2
B N o] 68.4 29.6 20 449 49.0 6.2
< M s>
=1 N3 70.8 283 0.8 396 50.9 9.5
o Xt 80.6 179 15 457 46.6 7.7
< 8 o oE >
EN = 76.3 216 21 457 46.9 74
= = 75.5 231 14 385 534 81
ni = 76.0 235 0.5 429 50.0 7.1
CH = 75.0 25.0 0.0 39.7 46.3 14.0
< =% o ¥ >
ot 2| S 82.7 17.3 0.0 55.3 36.6 81
MEI,ZEZHE I} 88.1 9.3 26 40.1 458 141
N 2 S 86.3 137 0.0 336 522 141
M H A Tk of & 78.1 213 0.5 436 50.4 6.0
s 3 = M A 77.0 22.0 1.0 471 452 7.7
I8, 7| A xEL 67.6 324 0.0 434 56.6 0.0
oo e 2O 80.8 18.1 11 51.2 399 8.9
2 3 OF2 = 774 204 22 444 48.0 7.6
7| Ef 65.1 344 0.5 333 55.7 11.0
<@ 3w >
15 ~ 19 AN 75.3 247 0.0 218 64.3 139
20 ~ 29 A 56.7 433 0.0 291 58.7 122
30 ~ 39 A 72.2 27.8 0.0 351 49.8 151
40 ~ 49 A 83.0 16.1 0.9 46.9 40.2 13.0
50 ~ 59 A 78.8 20.2 1.0 493 46.8 3.8
60 A o] & 76.7 214 19 445 48.3 7.3
65 A o] & 76.8 213 19 452 474 74
<AHo SRE>
L 76.7 214 18 451 474 7.5
o} I} E 76.7 204 29 16.3 67.9 158
1% I~ I 77.6 224 0.0 443 46.5 9.2
Ct M CH Z= EH 333 66.7 0.0 333 333 333
7| Ef - - - - - -
<7t7 YEFAS>
100 2+ @ O] ot 72.5 245 3.0 40.5 48.8 10.7
100~2002+ < O Ot 76.2 223 14 443 48.1 7.6
200~3002+¥ O] ot 81.2 18.8 0.0 48.2 49.7 2.1
300~4002+ <l OOt 82.6 174 0.0 47.7 429 94
400~500 2t O] 3t 95.0 5.0 0.0 49.5 50.5 0.0
500~6002+ <l O Ot 94.1 5.9 0.0 19.6 804 0.0
600~7002+Q OOt 0.0 100.0 0.0 0.0 100.0 0.0
700 9+ 2 o] & 68.9 311 0.0 453 0.0 54.7
AR AAEE,T2017 AY AL RAL
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10-2. OF| ¢ dIxte &=, Xt ZZ= H|E, 7|2 xtH FE T UH|
olF & HRAXA(O=)el 8= A 2E FH| HIE Z=% At 2| & OpH
MHOZ |, o | HESHR | HEeZ | o | RESK | mELZ | o | KK

Xl gl ) e ) e )
2 0 1 7] 29.7 62.1 8.3 129 76.3 10.8 12.3 59.9 27.8
< x o &® >
A N gl 279 63.1 9.0 133 77.3 94 124 64.4 23.2
B N gl 323 60.5 7.2 123 74.9 12.8 121 53.2 347
< M s>
=1 XH 255 66.0 8.4 9.5 79.1 114 9.4 62.5 281
o XH 336 583 81 16.0 73.8 10.2 15.0 57.5 27.5
< 8 o oE >
EN & 322 62.4 55 144 74.6 11.0 13.8 54.9 313
= E| 286 60.8 10.6 12.0 821 6.0 124 61.3 263
ni Z| 306 62.1 7.3 12.3 74.9 129 122 62.6 25.2
CH E| 237 62.5 139 114 774 11.2 9.0 65.6 254
<3 Y98 >
nl3 2| 2l 370 549 81 216 73.0 54 216 64.9 135
MEI,ZHEZ7H 410 46.3 12.8 215 57.9 20.5 137 53.8 325
N 2 2l 334 51.9 147 21.2 62.1 16.7 21.2 56.1 22.6
M H A T Oj Z| 346 574 8.1 14.6 78.0 74 14.6 67.9 17.5
s T £ M Z| 280 64.3 7.6 114 77.8 10.8 117 584 29.8
Jls8, 7| A x=EL 463 53.7 0.0 17.3 753 7.3 10.9 72.0 171
b L B Xl 444 445 111 55 67.0 274 55 45.6 48.8
23 F B[ 345 584 7.0 149 75.2 9.9 14.9 56.9 28.2
7| Etf 137 77.6 8.8 8.0 84.9 7.2 7.0 65.5 275
<@ 3w >
15 ~ 19 AN 9.3 73.2 174 9.3 829 77 9.3 624 28.2
20 ~ 29 A 7.5 84.9 77 0.0 89.8 10.2 0.0 80.1 19.9
30 ~ 39 M| 437 433 129 26.1 56.4 17.5 217 436 34.8
40 ~ 49 M| 292 554 155 134 72.9 137 15.0 554 29.6
50 ~ 59 M| 355 591 54 10.6 815 7.9 9.7 66.8 236
60 A o] A 308 63.2 6.0 139 75.6 10.4 131 57.2 29.7
65 A o] A 298 64.1 6.1 13.2 76.4 10.4 119 58.1 30.0
<HMO ZRE>
o & % EHl 289 63.8 7.2 10.7 78.1 11.2 10.4 59.2 303
o} o} E[ 360 49.8 143 10.7 64.4 24.8 10.7 64.4 24.8
o 7 x EH 358 51.2 13.0 18.3 72.2 9.5 139 70.8 15.2
C} M CH Z= EHl 333 333 333 333 66.7 0.0 333 66.7 0.0
7| Ef - - - - - - - - -
<7t7 YEFAES>
100 2+ @ O] 9H 282 63.5 83 125 75.2 124 12.3 55.7 32.0
100~2002+9] O0H 322 60.5 7.2 10.9 75.7 133 10.8 57.5 317
200~3002H Ol3H 329 60.0 7.2 7.6 774 151 6.1 674 264
300~4002t<] O] 2+  37.0 48.0 14.9 10.3 89.7 0.0 5.6 80.9 135
400~5002t@ O| 2t 36.7 63.3 0.0 234 654 111 234 65.4 111
500~6002+ <l O Ot 0.0 90.2 9.8 0.0 100.0 0.0 0.0 100.0 0.0
600~7002+¥ OOt 0.0 100.0 0.0 0.0 0.0 100.0 0.0 0.0 100.0
700 9+ 2 o] & 0.0 453 54.7 0.0 100.0 0.0 0.0 72.7 273
AR AAEE,T2017 AY AL RAL
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11 22 Somelx
11-1. 22Hu 3H off
HoU g S0 2 ofe{ x| Tt S0 2 of oy L| ot S0 & fil‘ﬂ TI
= Auc ATt At T
Zo| &n | Zo| 1 Zo| #m | Zo| &2 Zo| #n | Zo] &1
US UR| Y UAS UR| UAS UX| Y5

2 0 1 7 3.6 125 87.5 1.0 44.4 55.6 11.1 25.0 75.0 84.3
< X 9 8 >
A X| A 54 111 88.9 14 42.9 571 14.0 20.0 80.0 79.2
B X| A 13 20.0 80.0 0.5 50.0 50.0 7.5 36.7 63.3 90.8
< M s>
=] N3 54 148 85.2 1.6 375 62.5 163 27.2 72.8 76.6
o N3 1.2 0.0 100.0 0.2 100.0 0.0 4.7 158 84.2 93.8
< 8 8 & >
EN = 0.2 0.0 100.0 0.2 100.0 0.0 26 20.0 80.0 97.0
= = 1.0 100.0 0.0 0.0 0.0 0.0 17.8 27.8 72.2 81.2
a = 8.6 154 84.6 2.0 66.7 333 289 250 75.0 60.5
CH = 239 5.9 94.1 7.0 20.0 80.0 324 26.1 73.9 36.6
< 3 o &8 >
2t 2| S| 8.3 0.0 100.0 16.7 50.0 50.0 250 0.0 100.0 50.0
B =M27H 148 0.0 100.0 0.0 0.0 0.0 444 16.7 833 407
At L S| 421 125 87.5 53 0.0 100.0 36.8 0.0 100.0 15.8
M H A = of = 135 143 85.7 3.8 100.0 0.0 28.8 20.0 80.0 53.8
s 2 = A A 2.5 250 75.0 0.3 0.0 100.0 111 389 61.1 86.2
Js¥, 7| Ax=EL 118 0.0 100.0 5.9 0.0 100.0 353 0.0 100.0 47.1
o e 2O 29 0.0 100.0 29 0.0 100.0 25.7 444 55.6 68.6
2 A S = 0.0 0.0 0.0 0.0 0.0 0.0 0.4 0.0 100.0 99.6
7| Et 0.6 0.0 100.0 0.6 100.0 0.0 71 18.2 81.8 91.6
< 948 8 >
15 ~ 19 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 A 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39 A 571 0.0 100.0 71 0.0 100.0 357 0.0 100.0 0.0
40 ~ 49 A 255 143 85.7 9.1 200 80.0 45.5 280 72.0 20.0
50 ~ 59 A 6.4 143 85.7 0.9 100.0 0.0 358 385 61.5 56.9
60 A o A 0.3 50.0 50.0 0.3 100.0 0.0 43 9.7 90.3 95.1
65 A o A 0.2 0.0 100.0 0.3 100.0 0.0 23 6.7 933 97.2
<HXMO ZRE>
ch = S EH 17 214 78.6 0.7 66.7 333 9.4 321 67.9 88.2
(o]3 I} E 26.5 111 88.9 5.9 0.0 100.0 324 0.0 100.0 353
A = S EH 20.0 0.0 100.0 33 0.0 100.0 36.7 0.0 100.0 40.0
Cb M Ch = =| 1000 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| gl - ; - - - - - - - -
<7t EEIALE>
100 o+ @ o] ot 0.0 0.0 0.0 0.4 50.0 50.0 32 5.9 94.1 96.4
100~2002+Q O] Tt 5.0 16.7 833 0.4 100.0 0.0 151 30.6 69.4 794
200~3008el Of gt 87 0.0 100.0 29 50.0 50.0 319 318 68.2 56.5
300~4002+Q O] Tt 129 250 75.0 6.5 0.0 100.0 419 46.2 53.8 387
400~5002t2l O] 3t 238 20.0 80.0 4.8 0.0 100.0 42.9 0.0 100.0 28.6
500~6002+Q O] Tt 50.0 0.0 100.0 0.0 0.0 0.0 333 0.0 100.0 16.7
600~70082l O]t 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 100.0 0.0
700 3t 2 O] At 50.0 0.0 100.0 250 100.0 0.0 0.0 0.0 0.0 25.0
XtE  BHEE 2017 B AR EAL F) 2017 ZARE 2RH SFEAR &5 MESH MRt
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11-2. 4gH| HSXt
Soda Zol 41 g a3 20| 41 UK %S
CECR X CEL R X
TH[OE| 4 EXl TH[OE | & EXel
e EE| S| 2E]| E e |EE| S |2E]| E
I R = B N L = Il el - It D
AH2| AHS|

He =] 3 e =] =
2 0 1 7(23.4 #### 485 9.1 00 212 212 0.0 76.6 #### 83 74 09 528 287 19
<X 9 & >
A N & 19.2 1000 500 100 0.0 200 200 0.0 808 1000 95 7.1 00 548 286 00
B x| o351 1000 462 77 00 231 231 00 649 1000 42 83 42 458 292 83
< M s>
=1 XH 25.0 1000 517 103 00 241 138 00 750 1000 92 9.2 00 506 287 23
o Xt 16.0 1000 25.0 0.0 00 00 750 00 840 1000 48 00 48 619 286 00
< 8 3 &
E Z(235 1000 750 00 00 250 00 00 765 1000 154 0.0 77 692 77 00
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= 2 £ A Z| 193 313 29.8 8.1 17 9.9 18.5 30.1 326 84 2.6 7.9
IS, 7| A =ELl 85 15.3 56.7 195 0.0 0.0 43 17.7 58.5 19.5 0.0 0.0
o> & 2 X 118 35.6 293 19.2 0.0 42 11.9 252 386 234 0.0 1.0
2" F= Bl 175 341 31.8 5.9 0.7 10.0 15.5 35.2 313 74 0.7 10.0
7] El 16.4 25.5 355 16.6 14 45 10.6 30.8 36.8 16.6 1.2 40
<@ 3w >
15 ~ 19 A|| 2438 7.8 54.7 9.7 31 0.0 77 31.0 51.6 6.6 31 0.0
200 ~ 29 AN|| 122 219 293 317 49 0.0 7.1 27.0 342 317 0.0 0.0
30 ~ 39 A|| 151 217 457 17.6 0.0 0.0 15.1 239 36.9 22.0 21 0.0
40 ~ 49 M| 152 28.6 35.6 17.8 0.9 19 116 29.1 37.2 18.1 40 0.0
50 ~ 59 A|| 17.8 24.6 381 121 12 6.2 15.7 26.2 39.7 129 1.2 43
60 A o] A 164 357 315 42 1.0 113 147 346 337 49 1.2 10.8
65 Al o] A 164 36.1 315 27 0.9 124 15.1 344 337 39 09 12.1
<AHo SRE>
o5  F  EH 164 315 329 8.1 14 9.6 14.8 30.6 35.2 8.8 2.2 83
ot o} E| 49 154 62.1 15.9 17 0.0 2.0 20.6 62.6 9.1 47 1.0
o 2 F =il 139 271 467 124 0.0 0.0 44 247 54.2 16.7 0.0 0.0
Ct M CH 3= =4 333 0.0 66.7 0.0 0.0 0.0 333 0.0 333 333 0.0 0.0
7| gl - - - - - - - - - - - -
<7t7 YEFAES>
100 9t & O] oH 149 33.0 33.0 3.0 16 14.6 13.6 326 334 5.1 11 14.2
100~2002tQl Oj8t 17.5 28.7 335 13.5 14 54 174 255 393 115 34 2.8
200~3002H2 O] TH 12.0 346 36.5 16.2 0.7 0.0 8.8 343 40.6 15.6 0.7 0.0
300~4002t 2] O/ 2H 239 19.0 467 6.3 24 16 7.8 26.5 419 15.7 8.1 0.0
400~5008t 2l O] 3t 187 10.6 51.6 19.2 0.0 0.0 12.2 17.0 55.8 14.9 0.0 0.0
500~6002+2l O/TH 0.0 19.6 64.8 15.6 0.0 0.0 0.0 19.6 74.6 5.9 0.0 0.0
600~70022 O/t 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
700 @t 2 o] AH 0.0 27.3 727 0.0 0.0 0.0 0.0 27.3 18.0 311 23.6 0.0
AR BAEE, 12017 BE AFS| AL
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19. StmME UEE
19-1. us g X nsYH UHFE
ug e HEE WSy s

o= of 2t e of 2t o2 o2 of 2t e of 2t o2

= = U | 2UF = = =UE | 2UF
2 0 1 7] 13.1 52.6 25.9 6.0 24 9.5 40.6 424 0.0 7.4
< X 9 8 >
A N gl 163 59.6 16.7 74 0.0 119 416 46.5 0.0 0.0
B N gl 00 242 63.7 0.0 121 0.0 36.3 25.8 0.0 379
< M s>
= X 9.8 62.9 137 9.8 39 9.8 49.0 37.3 0.0 3.9
o X 183 36.7 450 0.0 0.0 9.2 275 50.4 0.0 129
< & 3 9
E Z| 00 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
= Z| 192 36.5 322 8.7 35 139 348 40.5 0.0 10.8
il Z| 00 84.8 15.2 0.0 0.0 0.0 424 57.6 0.0 0.0
CH Z| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
< 3 o & >
/3 2| X 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HEZZHEIH 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
At =2 X 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A H & T of & 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s @ = & A 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7l 7A=Yl 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= £ 2 X 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 3 = £ 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Et| 131 526 259 6.0 24 9.5 40.6 424 0.0 74
< o 36 4#H >
15 ~ 19 M| 176 416 296 8.0 32 12.8 40.0 37.2 0.0 10.0
20 ~ 29 AM| 00 84.8 15.2 0.0 0.0 0.0 424 57.6 0.0 0.0
30 ~ 39 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40 ~ 49 M| 0O 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50 ~ 59 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60 Al o] & 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
65 Al o] & 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<HMe FRE>
= F Ei 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o} u} E| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
a4 & = E| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ct M CH = Ei| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7] Et - - - - - - - - - -
<7t EEFALS>
100 ©F A 0O o 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2002t@l O/t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3002k2l Oj@H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4002t@l O/t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~5002H O] 2t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
500~6002t@l O/t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
600~7002+2] O|@H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 OF @ o] & 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A2 BYEHE 12017 B AR ZAL F) 2017 HE2E "I =" G2 =7}
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19-2. @9 BA BEE U DA@A)QLO| B BEE
WL A HEE WAHWL )] A

o e P B L S B S B R B O L

= ot= E0E | 20E = o= E0E | E0F
2 0 1 71 227 58.0 19.3 0.0 0.0 9.5 39.7 48.3 0.0 24
< X o 8 >
A N o 282 59.9 119 0.0 0.0 119 46.5 416 0.0 0.0
B N gl 00 50.0 50.0 0.0 0.0 0.0 121 75.8 0.0 121
< M s>
=1 XH 19.6 62.9 17.6 0.0 0.0 9.8 41.2 451 0.0 39
o XH 275 504 221 0.0 0.0 9.2 375 534 0.0 0.0
<%y o8 >
EN Z| 00 100.0 0.0 0.0 0.0 60.3 0.0 39.7 0.0 0.0
= &| 331 387 28.2 0.0 0.0 8.7 36.5 51.3 0.0 35
ni Z| 00 100.0 0.0 0.0 0.0 0.0 57.6 424 0.0 0.0
CH Z| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<3 Ygwe >
/3 2| 2l 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MEJZHEJH 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
N 2 2l 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
M H 2 = of & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s & £ 4 = 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s, 7| A== 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
oo 2 2 X 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3 = Bl 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Etf 227 58.0 193 0.0 0.0 9.5 39.7 48.3 0.0 24
< o " 4w >
15 ~ 19 M| 304 436 26.0 0.0 0.0 12.8 336 50.4 0.0 3.2
20 ~ 29 M| 00 100.0 0.0 0.0 0.0 0.0 57.6 424 0.0 0.0
30 ~ 39 M| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40 ~ 49 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50 ~ 59 M| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60 A o] A 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
65 A o] A 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<AHo SRE>
o0 =5 x  Ei 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o} mt Ef 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o & F= Ei 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ct M Cf = Ei| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Ef - - - - - - - - - -
<7t7 YEFAS>
100 2+ & O] 2H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2002t<l O/ 2+ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3002t¥ O/8H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4002t<l O/2+H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~5002t% O|2t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
500~6002t<] O] 2+ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
600~7002t% O/3H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 2+ 2 o] & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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19-3. stwAld 3l dH| 3 g FH &F URE
StuAld 8 ZH HERE st FE B R
of ozt b ozt Of Of ozt wE ot oH-?
25 e US| 2USF 2 e US| 2UF

2 0 1 7/ 119 40.1 26.3 193 24 6.0 374 38.2 16.1 2.4
< X 9 2 >

A x| o 148 40.6 298 14.8 0.0 74 436 416 74 0.0
B x| %l 00 37.9 121 37.9 121 0.0 121 242 51.7 121
< M s>

g Xt 196 217 314 234 39 9.8 314 451 9.8 3.9
of Xt 00 68.7 183 12.9 0.0 0.0 46.6 275 25.9 0.0
< &% 5 2 >

e Z| 00 60.3 39.7 0.0 0.0 0.0 60.3 39.7 0.0 0.0
3 Z| 174 318 19.2 282 35 8.7 279 36.5 235 35
inl Z| 00 57.6 424 0.0 0.0 0.0 57.6 424 0.0 0.0
u Z| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
< 3 d 2 >

s 2| x| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MR EHMEI 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ab 2 x| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
M H 2 B oof Zf 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5 @ £ & FH 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 7 A=EY 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
oo = 2O 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
28 F 8| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Ef 119 40.1 263 193 24 6.0 374 382 161 24
< o H H >

15 ~ 19 M| 160 341 208 26.0 32 8.0 305 36.8 216 32
20 ~ 29 M| 00 57.6 424 0.0 0.0 0.0 57.6 424 0.0 0.0
30 ~ 39 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4 ~ 49 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50 ~ 59 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60 M o Al 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
65 M o Al 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<AM2 ZRE>

o 5 F | 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
of ot E| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o F e 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
b A o = = 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Bl - - - - - - - - - -
<7t EIL 5>

100 2t @ oOf 9 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~200%¢l OfBH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3002H9) O/ Bt 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~400%¢l O/ BH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~5008t8l O/2H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
500~6002¢l OBt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
600~7002H9l O/ Bt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 2t 2 of A 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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19-4. 2% HE Y X HEOIMs, 58210, tie 0] d) S
2D A Y S HE(OM&, E4%ta, ot oY) HEE

e | e | o | %2 | oe he | e | g | éZ | e

= o= g0E | EUF = o= £0E | EUF
2 0 1 7 9.5 14.3 58.9 9.8 7.4 0.0 21.8 56.1 22.2 0.0
< X o 8 >
A N gl 119 119 64.0 122 0.0 0.0 24.2 62.4 133 0.0
B N o] 0.0 24.2 379 0.0 379 0.0 0.0 0.0 100.0 0.0
< M s>
=1 Xt 9.8 17.6 59.0 9.8 39 0.0 323 50.0 17.7 0.0
o Xt 9.2 9.2 58.8 9.9 129 0.0 0.0 68.6 314 0.0
<%y o8 >
EN = 0.0 39.7 60.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= = 139 174 49.2 8.7 10.8 0.0 0.0 54.4 45.6 0.0
ni = 0.0 0.0 84.8 15.2 0.0 0.0 424 57.6 0.0 0.0
CH = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<3 Y98 >
=2 2| kS| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HEJ}, ZXET} 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
At 2 kS| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN H 2 = of A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 2 = & A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 7| A=A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o e 2O 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
743 F2 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Ef 9.5 143 589 9.8 74 0.0 218 56.1 222 0.0
< o " 4w >
15 ~ 19 M| 128 19.2 50.1 8.0 10.0 0.0 0.0 54.4 45.6 0.0
20 ~ 29 A 0.0 0.0 84.8 15.2 0.0 0.0 424 57.6 0.0 0.0
30 ~ 39 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40 ~ 49 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50 ~ 59 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60 A o] A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
65 A o] A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<AHo SRE>
o =5 x HH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
of mt E 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 7 F EH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Ct M CH = EH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Ef - - - - - - - - - -
<7t7 HEFAES>
100 o+ @ o] ot 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2002+Q O] Tt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3002+¥ O] ot 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4002+ < O Ot 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~500 2t O] 3t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
500~600 2+l O Ot 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
600~7002+Q OOt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 9t 2 o] A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RHE  BAHE, 12017 Fe ALIRAL F)2017H2E AR MY HY VFEG HE BEE" S 5
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19-5. HetHel studg U
MUt ¢HRE

of ozt us ozt Of

25 e ° U U
2 0 1 7 9.5 45.7 23.1 19.3 2.4
< X 9 °& >
A x| o 119 51.0 224 14.8 0.0
B x| o 0.0 242 258 379 121
< 4 H >
ef xt 9.8 45.1 17.8 234 39
of xt 9.2 46.6 313 12.9 0.0
< % 85 94 >
= e 0.0 100.0 0.0 0.0 0.0
5 z 139 36.5 17.9 282 35
inl z 0.0 57.6 424 0.0 0.0
] z 0.0 0.0 0.0 0.0 0.0
<3 d 2>
) 2| z| 0.0 0.0 0.0 0.0 0.0
M2, =2NME7 0.0 0.0 0.0 0.0 0.0
At 2 z| 0.0 0.0 0.0 0.0 0.0
M H A oof 0.0 0.0 0.0 0.0 0.0
5 @ £ & F 0.0 0.0 0.0 0.0 0.0
I15 97| A = 0.0 0.0 0.0 0.0 0.0
oo o 2% 0.0 0.0 0.0 0.0 0.0
" oF o8 0.0 0.0 0.0 0.0 0.0
7| Ef 9.5 457 231 19.3 24
< d 3 2 >
15 ~ 19 A 128 416 16.4 26.0 32
20 ~ 29 A 0.0 57.6 424 0.0 0.0
30 ~ 39 A 0.0 0.0 0.0 0.0 0.0
40 ~ 49 A 0.0 0.0 0.0 0.0 0.0
50 ~ 59 A 0.0 0.0 0.0 0.0 0.0
60 M O A 0.0 0.0 0.0 0.0 0.0
65 M O A 0.0 0.0 0.0 0.0 0.0
<HNe| FRE>
o0 =5 F oo 0.0 0.0 0.0 0.0 0.0
of o} E 0.0 0.0 0.0 0.0 0.0
Ay F oo 0.0 0.0 0.0 0.0 0.0
Ch M Of = = 0.0 0.0 0.0 0.0 0.0
7| Ef - - - - -
<7t EEIL5>
100 2t @ of ot 0.0 0.0 0.0 0.0 0.0
100~2008 9 O] Bt 0.0 0.0 0.0 0.0 0.0
200~3002+ 9l O gt 0.0 0.0 0.0 0.0 0.0
300~4002+ 9l O gt 0.0 0.0 0.0 0.0 0.0
400~500 29l O] 2 0.0 0.0 0.0 0.0 0.0
500~600 8¢l O] 2t 0.0 0.0 0.0 0.0 0.0
600~700 2+ 9l O] Bt 0.0 0.0 0.0 0.0 0.0
700 2t 9 o] 4 0.0 0.0 0.0 0.0 0.0
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20. Xto] wsH| X|= 5 w

20-1. Xj{o| @{H| K| =N

YT SUSH|(AH 121E) YT ALSH|(RHH 121E)
xE= = CHE | xf=aAd *xE= N s W =T VS
A 00180 | o | g mm| P an [392] 22 | oy | e

2 0 1 7] 6.3 0.0 2.3 124.2 431.0 0.0 225 1855 183.8 1313 2057 0.0
< X o 8 >

A N gl 7.1 0.0 33 1357 4676 0.0 233 1923 2194 1176 2000 0.0
B N gl 0.0 0.0 0.0 100.0 275.0 0.0 167 1100 103.8 160.0 230.0 0.0
< M s>

=1 Xt 6.3 0.0 23 1196 4351 0.0 225 1818 1838 1354 2265 0.0
o Xt 0.0 0.0 0.0 148.0 400.0 0.0 0.0 215.0 0.0 1100 520 0.0
<% oy >

EN Z| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 200.0 0.0 0.0 0.0 0.0
= Z| 0.0 0.0 0.0 64.0 2800 0.0 133 330 0.0 1240 260.0 0.0
ni Z| 0.0 0.0 3.8 1423 4379 0.0 333 1663 425 1205 2183 0.0
CH =l 83 0.0 0.0 100.0 500.0 0.0 222 2180 4100 2000 1263 0.0
<3 Y98 >

2 2| 0.0 0.0 0.0 100.0 3333 0.0 0.0 0.0 600.0 300.0 110.0 0.0
MEILZ=ZHMEZIH 00 0.0 150 250.0 260.0 0.0 240 1170 50.0 4000 1880 0.0
N 2 0.0 0.0 0.0 0.0 0.0 0.0 8.0 186.8 188.0 0.0 0.0 0.0
M H A T oOf 2| 0.0 0.0 0.0 143.0 426.7 0.0 0.0 3250 2333 870 2300 0.0
s & = A A 214 0.0 0.0 110.7 5143 0.0 400 1000 250 1286 1821 0.0
Jls8, 7| A== 0.0 0.0 0.0 50.0 0.0 0.0 0.0 265.0 0.0 0.0 800.0 0.0
oo = 2 E| 00 0.0 0.0 110.0 500.0 0.0 100.0 30.0 0.0 100.0 200.0 0.0
273 F H| 00 0.0 0.0 00 12000 00 0.0 0.0 0.0 0.0 70.0 0.0
7| Etf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 110.0 0.0 100.0 100.0 0.0
< o " 4w >

15 ~ 19 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39 A|| 00 0.0 0.0 0.0 0.0 0.0 575 1883 0.0 0.0 0.0 0.0
40 ~ 49 M| 115 0.0 3.0 1256 325.0 0.0 31 2293 2025 1094 285.0 0.0
50 ~ 59 A|| 00 0.0 0.0 126.2 463.0 0.0 0.0 1000 1217 1631 2022 0.0
60 A o] &t 0.0 0.0 0.0 100.0 428.6 0.0 40.0 50.3 0.0 100.0 1286 0.0
65 A o] &t 0.0 0.0 0.0 0.0 400.0 0.0 40.0 50.3 0.0 0.0 200.0 0.0
<AHo SRE>

oL & ZF  EH| 136 0.0 43 1127 4344 0.0 127 1202 736 1259 1881 0.0
o} mt Ef 0.0 0.0 0.0 133.3  400.0 0.0 200 2223 3188 2667 250 0.0
o & F= Eil 00 0.0 0.0 161.7 425.0 0.0 0.0 2054 3000 833 3213 0.0
Ct M CH Z= EH[ 0.0 0.0 0.0 0.0 0.0 0.0 70.0 0.0 0.0 0.0 0.0 0.0
7| E} - - - - - - - - - - - -
<7t7 YEFAES>

100 2+ & O] 2H 00 0.0 0.0 20.0 500.0 0.0 0.0 45.0 0.0 0.0 0.0 0.0
100~2002t<] O] 2+ 0.0 0.0 7.5 1054 575.0 0.0 163 1000 375 1692 1813 0.0
200~3002H¥ O/3H 0.0 0.0 0.0 1211 309.1 0.0 0.0 1300 825 300 2364 0.0
300~4002t < O/ 0H 16.7 0.0 0.0 2140 366.7 0.0 8.9 178.9 0.0 1400 2211 0.0
400~5002t9 D| 2t 0.0 0.0 0.0 100.0 490.9 0.0 0.0 2250 3150 400.0 200.0 0.0
500~6002t<] O] 2+ 0.0 0.0 0.0 0.0 0.0 0.0 16.7 3058 500.0 0.0 0.0 0.0
600~7002H% O/3H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 2+ 2 o] & 0.0 0.0 0.0 100.0 450.0 0.0 140.0 400.0 0.0 100.0 200.0 0.0
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2H e ad HE A_‘?:::;
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sm | &3 st 2t e
A Lo mSH| L 7|25 AbH| 71t
H HDO =y ES =

2 0 1 7| 66.7 100.0 46.8 43.5 3.2 6.5 0.0 151 18.3
< % o ¥ >

A N 9| 608 100.0 489 444 22 44 0.0 189 20.3
B N 9| 895 100.0 41.2 41.2 5.9 118 0.0 0.0 105
< M s>

= X 659 100.0 444 444 37 74 0.0 14.6 195
o X 727 100.0 62.5 375 0.0 0.0 0.0 18.2 91
<% ® o8 >

E = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0
5 Z| 500 100.0 83.3 0.0 0.0 16.7 0.0 16.7 333
I = 787 100.0 48.6 459 0.0 54 0.0 8.5 128
CH Z| 576 100.0 316 52.6 105 53 0.0 21.2 21.2
< % 9w >

Z 2| X 66.7 100.0 50.0 50.0 0.0 0.0 0.0 16.7 16.7
MEI,EHZ7H 583 100.0 143 714 143 0.0 0.0 16.7 25.0
At =z X 545 100.0 0.0 100.0 0.0 0.0 0.0 91 364
M H A @ oof x| 818 1000 556 333 0.0 111 0.0 45 136
s 8 == A A 769 100.0 55.0 30.0 50 10.0 0.0 115 115
7l 7| A=Al 400 100.0 100.0 0.0 0.0 0.0 0.0 40.0 20.0
o= = 2 % 600 100.0 66.7 333 0.0 0.0 0.0 20.0 20.0
2P ¥ = E| 1000 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
7] Ef| 20.0 100.0 0.0 100.0 0.0 0.0 0.0 60.0 20.0
< o By 48

15 ~ 19 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39 M| 556 1000 0.0 60.0 40.0 0.0 0.0 111 333
4 ~ 49 A| 600 1000 = 292 66.7 0.0 42 0.0 20.0 20.0
50 ~ 59 M| 794 1000 704 222 0.0 7.4 0.0 8.8 118
60 Al o] & 600 100.0 50.0 333 0.0 16.7 0.0 20.0 20.0
65 Al o & 200 100.0 100.0 0.0 0.0 0.0 0.0 40.0 40.0
<HXo SR>

B 5 F H| 691 100.0 60.5 316 0.0 7.9 0.0 12.7 182
of u} E| 588 100.0 10.0 80.0 10.0 0.0 0.0 353 59
o g F H| 684 100.0 38.5 53.8 0.0 7.7 0.0 53 26.3
Ct M Cf = Eif 500 100.0 0.0 0.0 100.0 0.0 0.0 0.0 50.0
7| B - - - - - - - - -
<It7 YWBAE>

100 ¢+ @ O] @ 250 100.0 100.0 0.0 0.0 0.0 0.0 50.0 25.0
100~2002t OJ@H 625 100.0 40.0 533 0.0 6.7 0.0 20.8 16.7
200~3002kel O/gt 731 100.0 63.2 36.8 0.0 0.0 0.0 115 154
300~4002t OJ@H 588 100.0 50.0 40.0 0.0 10.0 0.0 17.6 235
400~500 0l O] 2k  84.6 100.0 364 455 0.0 18.2 0.0 0.0 154
500~6002t-2 O] @H  80.0 100.0 0.0 75.0 25.0 0.0 0.0 0.0 20.0
600~700T+&l O] 2t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 @+ & o] A 50.0 100.0 50.0 0.0 50.0 0.0 0.0 25.0 25.0
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2552 2552
e MBI NYel U ¥E o
s asi0 o e At | m H210 e
ooty | 2| | gt | B leso | ae | waot | wo | TENT
moict | et
2 0 1 71 26.7 86.2 100.0 9.4 16.7 21.2 25.8 26.9 13.8 733
< xN o9 o8
A N o 287 78.6 100.0 121 19.6 15.8 314 212 214 713
B N 9|l 237 100.0 100.0 57 125 29.0 17.7 351 0.0 76.3
< M s>
= X 36.5 82.7 100.0 8.2 153 14.6 27.2 346 17.3 63.5
o XH 174 931 100.0 117 19.0 328 23.2 133 6.9 82.6
<% "8 >
EN Z| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
= Z| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
ni Z| 390 87.2 100.0 23 9.2 232 237 416 12.8 61.0
CH & 915 855 100.0 14.3 217 19.9 27.2 16.9 14.5 85
<" Y8 >
3 2| 2717 914 100.0 0.0 264 0.0 53.0 20.6 8.6 283
HEZF =M E7H 580 100.0 100.0 29.7 6.7 6.9 18.3 383 0.0 42.0
At 2 2 775 100.0 100.0 0.0 352 259 191 19.8 0.0 225
M H A T oj Z| 450 100.0 100.0 49 131 337 18.2 30.2 0.0 55.0
s & = A A 139 81.7 100.0 31 326 74 42.5 144 18.3 86.1
e 7| A=Al 498 100.0 100.0 11.2 0.0 388 50.0 0.0 0.0 50.2
o & 2 X 143 100.0 100.0 0.0 0.0 0.0 30.5 69.5 0.0 85.7
23 F Bl 126 96.2 100.0 210 13.6 189 351 115 3.8 874
7| Et| 323 55.7 100.0 7.3 6.2 305 8.2 47.8 443 67.7
<o 78>
15 ~ 19 M| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
20 ~ 29 M| 752 64.9 100.0 52 0.0 201 10.5 64.2 351 24.8
30 ~ 39 M| 629 96.6 100.0 214 213 17.8 17.6 219 34 371
40 ~ 49 M| 490 96.3 100.0 6.5 231 231 259 214 37 51.0
50 ~ 59 M| 319 88.0 100.0 18 111 241 437 193 12.0 68.1
60 A o] A 54 90.2 100.0 18.7 29.6 19.9 27.2 47 9.8 94.6
65 A o] A 39 904 100.0 219 17.9 244 28.6 7.2 9.6 9%6.1
<ANo BRE>
o =5 x  EH 164 89.6 100.0 11.2 17.9 224 33.2 15.2 104 83.6
o} mt E| 681 100.0 100.0 0.0 6.8 9.1 458 38.2 0.0 319
o 7 F EH 575 100.0 100.0 9.1 19.0 124 184 41.0 0.0 42.5
Ct M CH Z= EH 100.0 100.0 100.0 0.0 66.7 333 0.0 0.0 0.0 0.0
7| gl - - - - - - - - - -
PESTEPES
100 2+ & O] 2 37 90.2 100.0 16.7 0.0 219 273 341 9.8 96.3
100~2002t @l Oj3H 255 89.6 100.0 151 153 131 39.7 16.9 104 74.5
200~3002HQ OJ0H 49.7 94.4 100.0 0.0 14.5 37.2 324 159 5.6 50.3
300~4002+ 9 O/ 0FH 475 100.0 100.0 154 18.8 9.9 447 113 0.0 52.5
400~5002tQ O] 2t 57.2 92.6 100.0 0.0 29.9 10.5 28.2 315 74 428
500~6002t2] O/ 0H 941 100.0 100.0 0.0 20.8 104 0.0 68.8 0.0 5.9
600~7002+@l O] @H 100.0 100.0 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
700 ok @ o] & 100.0 100.0 100.0 0.0 311 0.0 417 273 0.0 0.0
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22. 250f Ciet =
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ULk ettt
wA | wews (aves| w8 | S0 | MY

2 0o 1 7| 81 100.0 0.9 10.5 55.2 29.4 3.9 14.9
<X o9 >
A x| o 830 100.0 07 120 56.6 277 3.0 17.0
B x| of| 883 100.0 12 84 533 319 52 117
< M s>
o x| 853 100.0 10 101 498 324 6.6 147
of x| 850 100.0 08 108 603 267 14 150
<o >
E s 957 100.0 03 76 626 270 25 43
5 =l 676 100.0 24 101 49.0 349 36 324
inl =l 835 100.0 0.0 84 511 330 7.5 165
c =l 796 100.0 28 222 46.8 2622 2.0 204
< x oY E >
2t 2| x| 1000 100.0 0.0 185 464 351 0.0 0.0
Moo, z®es 953 100.0 28 84 493 279 116 47
A= x| 1000 100.0 54 172 56.0 176 39 0.0
M oH A ®oof R 959 100.0 0.0 17.0 503 307 20 41
5 2 & A x| 994 100.0 08 6.5 495 361 71 06
IS5 7| AER| 1000 100.0 0.0 274 51.0 216 0.0 0.0
B o= = 2 x| 1000 100.0 0.0 136 416 436 12 0.0
™" = 8| 857 100.0 04 9.3 66.6 229 08 143
7| et 461 100.0 15 9.7 62.0 238 3.0 539
< o ¥ ¥ >
15 ~ 19 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 1000
20 ~ 29 M| 299 100.0 0.0 0.0 82.9 171 00 70.1
30 ~ 39 A 848 100.0 0.0 102 3838 435 7.5 152
40 ~ 49 A| 942 100.0 17 163 433 293 94 538
50 ~ 59 A 953 100.0 04 121 482 36.1 3.1 47
60 M o A 967 100.0 09 9.1 62.9 250 22 33
65 M o A 978 100.0 07 9.2 64.2 2422 16 22
<HNo ZEE>
o= oz ol 992 100.0 09 89 57.0 29.0 42 08
of m  E| 990 100.0 20 138 302 394 147 1.0
o 7 = = 975 100.0 38 182 436 293 51 25
oM o = e 1000 100.0 0.0 333 333 333 0.0 0.0
7| gl - - . - - - - -
b7 WFAS>
100 o ¢ o] o 988 100.0 08 6.6 637 256 33 12
100~200%+¢ Oj@ 995 100.0 09 7.8 471 3438 9.5 05
200~300%t¢ Ojgt 994 100.0 25 120 452 403 0.0 06
300~400%+¢ Oj@t 973 100.0 17 198 446 285 55 27
400~5008tgl O] gt  100.0 100.0 37 382 303 227 5.0 0.0
500~6002+% OB 1000 100.0 0.0 9.8 90.2 0.0 0.0 0.0
600~700%t gl Oj G  100.0 100.0 0.0 0.0 100.0 0.0 0.0 0.0
700 o ¥ of 4| 1000 100.0 0.0 547 0.0 453 0.0 0.0

AE  BAEE, 12017 Y ARG AL,

- 202 -



23. &3 71+ &

=

of chHgh AoH

ol Lot 5 LIotE Hap H =g g LiE Ol L
2o\t Z0|Lt Zo|ct A0\t Zo|Ct

2 0 1 7 1.6 24.8 58.3 12.9 24
< X o 8 >

A N o] 16 28.8 59.3 8.6 17
B N o] 16 188 56.7 194 3.6
< M s>

= N3 15 25.8 53.5 158 34
o Xt 17 238 62.8 10.2 15
<% oy >

EN = 0.1 14.5 69.3 139 22
= = 28 26.1 56.1 11.8 3.2
ni = 16 243 56.3 143 35
CH = 39 477 384 9.6 0.5
<3 Y98 >

nl3 2| S 0.0 36.8 57.8 54 0.0
MEI,ZEZHE I} 0.0 40.5 48.9 8.0 26
N = S 8.7 528 385 0.0 0.0
M H A Tk of & 0.9 373 58.9 21 0.8
s 3 = M A 12 17.7 59.7 18.0 3.3
I8, 7| A xEL 12.0 36.7 458 5.6 0.0
oo e 2O 0.0 16.0 68.6 7.7 7.7
243 F2 2 0.8 20.5 67.3 9.9 15
7| Et 17 24.0 491 220 31
< o " # >

15 ~ 19 AN 6.6 263 56.3 7.7 31
20 ~ 29 A 0.0 46.6 271 26.2 0.0
30 ~ 39 A 6.4 435 48.0 21 0.0
40 ~ 49 A 24 311 475 129 6.1
50 ~ 59 A 17 204 654 10.2 23
60 A o] & 0.3 17.2 67.1 135 20
65 A o] & 0.2 158 69.1 131 18
<AHo SRE>

o0 =5 x H 0.3 17.0 64.9 141 37
o} o} E 1.0 37.6 56.5 49 0.0
o 7 F EH 81 48.5 39.2 43 0.0
Ct M CH = EH 66.7 333 0.0 0.0 0.0
7| Ef - - - - -
<7t7 YEFAS>

100 2+ @ O] ot 0.6 114 704 146 3.0
100~2002+ < O Ot 0.0 188 61.6 158 37
200~3002+¥ O] ot 3.0 271 57.2 6.9 5.8
300~4002+ <l OOt 8.7 42.0 45.2 4.0 0.0
400~500 2t O] 3t 0.0 58.5 37.7 37 0.0
500~6002+ <l O Ot 0.0 74.6 254 0.0 0.0
600~7002+Q OOt 0.0 0.0 0.0 100.0 0.0
700 9+ 2 o] & 311 18.0 50.9 0.0 0.0
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< o of 7k otx 2 A, < =UE

2 0 1 7 2.3 19.6 57.4 18.8 1.9
< X o 8 >

A N o] 18 230 59.7 143 11
B N o] 3.0 145 54.0 254 3.2
< M s>

= Xt 26 184 54.6 22.3 2.1
o Xt 21 20.7 60.0 155 17
<% oy >

EN = 18 18.0 63.5 155 11
= = 22 17.6 60.8 17.5 19
ni = 22 17.5 527 240 35
CH = 35 28.2 479 191 12
< % 98 >

nl3 2| S 29 27.6 64.1 54 0.0
MEI,ZEZHE I} 0.9 16.6 51.5 284 26
N = S 111 393 347 148 0.0
M H A Tk of & 1.2 27.5 54.6 16.0 0.8
s 3 = M A 27 154 57.6 211 3.2
I8, 7| A xEL 5.6 281 53.5 129 0.0
oo e 2O 0.0 242 48.1 26.7 1.0
243 F2 2 2.0 22.7 62.7 11.8 0.8
7| Et 14 111 59.8 248 3.0
<@ 3w >

15 ~ 19 AN 31 7.8 783 7.7 31
20 ~ 29 A 0.0 122 49.0 38.8 0.0
30 ~ 39 A 21 30.2 458 218 0.0
40 ~ 49 A 6.2 171 52.7 19.8 4.1
50 ~ 59 A 12 20.7 524 218 4.0
60 A o] & 21 20.0 62.9 14.0 1.0
65 A o] & 2.0 18.6 64.4 141 0.8
<AHo SRE>

L 22 181 59.6 18.0 20
o} ot E 29 254 36.3 354 0.0
o 7 F EH 38 255 57.5 9.0 43
Ct M CH = EH 333 333 333 0.0 0.0
7| Ef - - - - -
<7t7 YEBLS>

100 2+ @ O] ot 26 15.6 62.7 171 20
100~2002+ < O Ot 0.2 17.7 57.4 23.6 11
200~3002+¥ O] ot 7.5 15.2 50.7 20.1 6.4
300~4002+ <l OOt 5.6 26.5 56.0 11.8 0.0
400~500 2t O] 3t 0.0 62.8 218 154 0.0
500~6002+ <l O Ot 0.0 19.6 804 0.0 0.0
600~7002+Q OOt 0.0 0.0 100.0 0.0 0.0
700 9+ 2 o] & 23.6 764 0.0 0.0 0.0
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el AFE O REA et
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27 a0l ol |wal™ | mem | T2 | e
NF | | st 4T2 | 24T

2 0 1 7| 954 100.0 24.0 42.3 29.1 4.1 0.1 0.1 0.1 0.0 0.0 4.6
< X 98 >
A X| ol 938 100.0 24.0 504 22.2 31 0.1 0.0 0.2 0.0 0.0 6.2
B X| ol 979 100.0 241 30.8 39.1 5.6 0.0 04 0.0 0.1 0.0 21
< M s>
=1 KH 93.7 100.0 16.9 46.6 294 6.7 0.0 0.3 0.0 0.1 0.0 6.3
o XH 97.0 100.0 30.5 384 289 1.8 0.2 0.0 0.2 0.0 0.0 3.0
< % 3 o8 >
= Z| 954 100.0 43.0 243 325 0.1 0.0 0.0 0.0 0.1 0.0 4.6
= Z| 90.5 100.0 19.7 50.0 284 0.9 0.0 1.0 0.0 0.0 0.0 9.5
i Z| 974 100.0 113 50.3 29.1 9.0 0.3 0.0 0.0 0.0 0.0 2.6
CH Z| 971 100.0 55 634 225 8.1 0.0 0.0 0.6 0.0 0.0 29
< =% 9 o¥ >
2t 2| %!l 100.0 100.0 9.1 76.7 143 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MEJ =M E7H 1000 100.0 10.0 70.9 17.6 15 0.0 0.0 0.0 0.0 0.0 0.0
At = 2l 95.3 100.0 6.0 59.8 19.7 12.0 0.0 0.0 2.5 0.0 0.0 47
M H A T Oj Z| 96.9 100.0 149 57.3 26.2 16 0.0 0.0 0.0 0.0 0.0 31
= 2 = A Z| 970 100.0 284 39.2 316 0.0 0.3 0.5 0.0 0.0 0.0 3.0
79, 7| A== 1000 1000 8.5 474 44.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ch > ¢ 2 X[ 1000 1000 199 344 457 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 A F EH| 970 100.0 36.2 33.2 304 0.2 0.0 0.0 0.0 0.0 0.0 3.0
7| E} 87.3 100.0 16.8 38.2 25.6 19.1 0.0 0.0 0.0 0.3 0.0 12.7
< o " & >
15 ~ 19 AM|| 705 100.0 0.0 77.5 18.1 4.4 0.0 0.0 0.0 0.0 0.0 29.5
20 ~ 29 M| 100.0 100.0 0.0 344 29.3 36.2 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39  M|| 95.8 100.0 6.9 63.4 253 4.4 0.0 0.0 0.0 0.0 0.0 4.2
40 ~ 49 M| 964 100.0 5.8 67.2 244 19 0.0 0.0 0.8 0.0 0.0 3.6
50 ~ 59 M| 993 100.0 21.0 473 30.6 0.0 04 0.7 0.0 0.0 0.0 0.7
60 A O] A 947 100.0 40.7 27.9 31.0 0.2 0.0 0.0 0.0 0.1 0.0 53
65 A O] A 943 100.0 43.6 253 30.9 0.1 0.0 0.0 0.0 0.1 0.0 5.7
<ANo Z5E>
oL = F EHl 96.3 100.0 32.2 37.8 29.1 0.6 0.0 0.3 0.0 0.1 0.0 37
of ot E| 100.0 100.0 9.0 813 4.0 5.8 0.0 0.0 0.0 0.0 0.0 0.0
o 2l S EHl 925 100.0 16 51.5 46.9 0.0 0.0 0.0 0.0 0.0 0.0 7.5
C} M CH Z= EH[ 100.0 100.0 0.0 66.7 333 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| Bt - - - - - - - - - - - -
<7t7 HEFLAS>
100 9+ € O] 9 95.5 100.0 431 28.1 284 0.2 0.0 0.0 0.0 0.2 0.0 45
100~2002tQl O] 2t 96.6 100.0 235 45.8 295 13 0.0 0.0 0.0 0.0 0.0 34
200~3002+< O]9t 98.2 100.0 129 574 29.7 0.0 0.0 0.0 0.0 0.0 0.0 1.8
300~4002tQl O] 2t 93.5 100.0 6.0 51.9 37.0 0.0 0.0 5.0 0.0 0.0 0.0 6.5
400~500 2+ O 3 100.0 100.0 0.0 824 6.5 111 0.0 0.0 0.0 0.0 0.0 0.0
500~6002tQl 0|2t 100.0 100.0 59 84.4 9.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
600~7008t2l O] O 100.0 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 @t € O] 4t 100.0 100.0 0.0 50.9 49.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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2 0 1 783 1000 454 121 11 01 95 125 147 30 16 137
<% ow >
A x| o 857 1000 387 153 00 02 139 172 118 25 04 143
B x| of| 872 1000 552 74 27 00 30 55 191 37 34 128
< M s>
o x| 849 1000 352 147 21 00 110 154 160 40 16 151
o x| 877 1000 546 98 02 02 81 98 136 20 17 123
< omow >
£ = 791 1000 89 40 03 00 24 35 25 03 10 209
= =| 853 1000 389 164 11 00 103 87 166 62 17 147
Il =| 913 1000 235 173 29 03 103 187 190 62 19 87
Y =| 960 1000 79 161 00 00 208 228 295 06 24 40
<mYgE s
T x| 1000 1000 167 54 00 00 143 339 204 00 92 00
M2, =827 961 1000 66 492 00 00 106 238 49 00 49 39
A 8 x| 943 1000 58 73 00 00 259 370 203 36 00 57
M A o of % 957 1000 215 178 00 00 130 188 270 20 00 43
= 2 = A x| 864 1000 660 124 24 03 41 70 43 22 13 136
Jlse, 7| AxRS| 891 1000 279 110 72 00 124 135 00 207 72 109
t & = 2 x| 83 1000 309 51 12 00 83 134 343 57 12 137
b ™ F =|86 1000 687 80 02 00 66 53 61 29 21 154
7| Ef 783 1000 247 65 10 00 150 153 338 30 06 217
< o 7 ow >
15 ~ 19 A 752 1000 00 185 00 00 206 165 341 103 00 248
20 ~ 29 A|1000 1000 97 77 00 00 148 167 486 00 26 00
30 ~ 39 A 958 1000 23 275 00 00 89 159 454 00 00 42
40 ~ 49 M| 933 1000 116 178 47 00 149 244 185 69 11 67
50 ~ 59 A 919 1000 385 142 08 05 129 161 79 56 35 81
60 M o & 779 1000 80 65 05 00 35 42 11 09 13 221
65 M o & 752 1000 85 56 05 00 22 27 05 05 14 248
<HANe EEE>
b = z ey 809 1000 649 88 20 00 58 8 61 25 15 191
o0 m  E[9%0 1000 80 603 00 00 170 95 40 12 00 40
of g Z = 947 1000 30 40 46 00 145 395 167 117 60 53
c M of = = 667 1000 00 00 00 00 00 00 1000 00 00 333
7| B - ; - ; - - - - - - - -
<7 BEFAS>
100 o @ of o 753 1000 83 40 02 00 11 18 44 10 12 247
100~2009+9l 0| ot 862 1000 514 165 48 00 32 150 40 34 18 138
200~300%+% 08t 920 1000 156 219 00 00 148 143 218 70 46 80
300~4000+9l OjoH 857 1000 197 104 55 00 298 182 62 102 00 143
400~5000t gl O/ 1000 1000 115 111 00 00 437 239 98 00 00 00
500~6008H9l 0| BH 1000 1000 00 706 00 00 98 196 00 00 00 00
600~700%+% 08 1000 1000 00 00 00 00 00 1000 00 00 00 00
700 o @ of o| 764 1000 00 00 00 00 00 357 643 00 00 236
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25-3. 7t787|, ZFMEECH 4E8 2, ME| S) ol

el AFE O REA et

o o

et e | H¥ | g ECAIRY st

e 2ol ol | Mol ™ | HEE | o2 | eam | ZIEF
AE (St 2g=E | 208
OotE

2 0 1 7| 28.6 100.0 10.8 12.2 6.7 0.0 0.3 524 133 31 11 714
< X 9 &7 >
A N 9| 264 1000 112 133 0.5 0.0 0.0 63.6 104 0.5 0.5 73.6
B N 9| 31.8 1000 103 10.7 145 0.0 0.8 385 16.9 6.4 1.9 68.2
< M s>
= X 287  100.0 6.2 147 5.9 0.0 0.0 61.2 8.2 21 18 713
o A 285 1000 152 9.7 7.5 0.0 0.7 442 18.2 41 0.5 715
< % 3 2 >
EN Z| 152 1000 290 17 149 0.0 0.0 473 53 0.0 18 84.8
S Z| 328 1000 101 45 6.5 0.0 0.0 63.3 74 55 27 67.2
il Z| 386 1000 6.5 7.3 6.5 0.0 0.9 64.0 9.1 5.0 0.8 614
CH Z| 393 1000 2.0 346 0.0 0.0 0.0 309 313 12 0.0 60.7
< 3 9 & >
Z 2| X 266 100.0 0.0 232 0.0 0.0 0.0 217 348 204 0.0 734
HEZ7HE™E7H 412 1000 0.0 524 0.0 0.0 0.0 18.6 290 0.0 0.0 58.8
At =2 X 334 100.0 0.0 220 0.0 0.0 0.0 56.0 219 0.0 0.0 66.6
A H 2 @ of & 386  100.0 8.3 154 0.0 0.0 0.0 547 18.9 0.0 27 614
s @ = 4 A 273 1000 135 51 40 0.0 0.0 63.8 6.9 38 29 727
7l 7| A=Al 618 1000 173 159 20.8 0.0 0.0 341 119 0.0 0.0 38.2
= & £ Z| 299 1000 178 18.2 6.7 0.0 0.0 49.8 7.5 0.0 0.0 70.1
23 = | 229 1000 206 8.1 15.6 0.0 1.6 43.6 6.5 40 0.0 77.1
7| Et| 248 100.0 10 2.8 7.0 0.0 0.0 64.4 18.7 6.0 0.0 75.2
< o 7 oW
15 ~ 19 M| 318 100.0 0.0 9.7 0.0 0.0 0.0 391 30.5 20.7 0.0 68.2
20 ~ 29 M| 488 100.0 0.0 0.0 0.0 0.0 0.0 64.2 358 0.0 0.0 51.2
30 ~ 39 M| 371 100.0 0.0 419 0.0 0.0 0.0 40.8 173 0.0 0.0 62.9
40 ~ 49 M| 417 1000 74 16.0 0.0 0.0 0.0 57.9 11.0 77 0.0 583
50 ~ 59 M| 349 1000 156 153 8.5 0.0 15 432 9.9 2.7 33 65.1
60 Al 0] A 158 1000 211 35 17.8 0.0 0.0 55.6 13 0.0 0.7 84.2
65 Al o] & 129 1000 236 29 210 0.0 0.0 51.6 0.9 0.0 0.0 871
<HMe FRE>
oL =5 3 EH 214 1000 140 7.1 12.0 0.0 0.0 55.3 7.2 35 1.0 78.6
of mt E| 429 100.0 0.0 70.7 0.0 0.0 0.0 204 8.9 0.0 0.0 57.1
o 7 F EH 421 1000 103 7.2 104 0.0 0.0 41.2 20.6 0.0 10.3 57.9
Ct M CH = EH4 667  100.0 0.0 50.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0 333
7| Bl - . - : - . - . - : - :
<7t E¥ELS>
100 ©F @& 0 ©H 132 1000 247 5.9 183 0.0 0.0 447 6.4 0.0 0.0 86.8
100~2002+9 O] 0H 247 100.0 115 4.2 8.7 0.0 0.0 55.6 9.1 84 25 753
200~3000H@l Oj@H 397  100.0 31 7.2 7.0 0.0 0.0 61.5 15.9 0.0 53 60.3
300~4002t @l Oj3H 427 1000 10.6 17.1 11.0 0.0 0.0 48.7 1255 0.0 0.0 57.3
400~5002+ O] 2 43.0 100.0 5.2 55.0 0.0 0.0 0.0 39.8 0.0 0.0 0.0 57.0
500~6002t ¢l OjTH 70.6  100.0 0.0 77.8 8.3 0.0 0.0 139 0.0 0.0 0.0 294
600~7002+@l O|@H 100.0 100.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0
700 @+ & O] AH 820  100.0 0.0 66.7 0.0 0.0 0.0 333 0.0 0.0 0.0 18.0
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25-4. M, 275 70§

el AFE O REA et

o o

et e | H¥ | g ECAIRY st

e 2ol ol | Mol ™ | HEE | o2 | eam | ZIEF
AE e (St 2g=E | 208

2 0 1 7| 28.3 100.0 15 6.1 3.6 2.0 0.0 41.9 40.0 1.7 3.0 71.7
< X 9 &7 >
A N 9| 28.0 100.0 1.0 54 23 0.0 0.0 36.4 511 12 27 720
B N 9| 28.9 100.0 22 7.2 5.6 5.0 0.0 49.8 241 25 3.6 711
< M s>
= A 33.0 100.0 14 42 44 3.6 0.0 43.6 37.0 18 3.9 67.0
o XH 239 1000 1.7 8.6 27 0.0 0.0 39.6 439 17 1.9 76.1
< % 3 2 >
E Z| 36 100.0 8.6 6.6 32 0.0 0.0 424 326 0.0 6.6 96.4
S Z| 349 1000 39 9.6 7.5 0.0 0.0 37.2 33.6 37 4.6 65.1
i Z| 385 1000 0.8 3.2 39 55 0.0 531 28.8 2.8 21 61.5
CH Z&| 622 1000 0.0 7.2 15 0.0 0.0 334 55.2 0.0 27 37.8
< 3 9 & >
Z 2| X[ 339 1000 0.0 0.0 0.0 0.0 0.0 364 63.6 0.0 0.0 66.1
HEZ7HE=™E7H 605 1000 0.0 6.2 0.0 0.0 0.0 31.0 58.6 0.0 42 39.5
At =2 X[ 591 100.0 0.0 5.8 5.8 0.0 0.0 434 40.0 0.0 5.0 40.9
M H| A T of 2| 427  100.0 0.0 12.1 27 0.0 0.0 411 410 0.0 31 57.3
s @ = 4 A 166  100.0 74 13.2 33 12.6 0.0 314 214 6.3 45 834
71s¥, 7| A=A 369 1000 0.0 0.0 174 0.0 0.0 524 30.2 0.0 0.0 63.1
= = £ Z| 109 1000 0.0 20.6 0.0 0.0 0.0 58.9 20.6 0.0 0.0 89.1
23 = H| 133 1000 2.3 53 7.3 0.0 0.0 374 449 0.0 2.8 86.7
7| Et| 46.0 100.0 0.0 0.0 2.6 0.0 0.0 511 420 2.3 2.0 54.0
< o 7 oW
15 ~ 19 M| 674  100.0 0.0 0.0 4.6 0.0 0.0 438 40.2 6.9 4.6 32.6
20 ~ 29 M| 827 100.0 0.0 31 0.0 0.0 0.0 55.7 41.2 0.0 0.0 17.3
30 ~ 39 M| 543 100.0 0.0 8.1 0.0 0.0 0.0 19.6 68.4 0.0 3.9 45.7
40 ~ 49 M| 536 100.0 0.0 3.6 1.7 8.1 0.0 36.8 40.5 41 53 464
50 ~ 59 M| 259 100.0 33 14.0 9.2 0.0 0.0 452 264 0.0 2.0 741
60 Al o] A 39 100.0 8.1 134 15.8 0.0 0.0 46.0 11.0 0.0 5.7 96.1
65 Al o] A 30 100.0 3.8 16.3 119 0.0 0.0 51.8 8.0 0.0 83 97.0
<HMe FRE>
= F E4 153  100.0 35 85 5.9 77 0.0 40.1 292 39 13 84.7
ot ut E| 579 1000 0.0 34 5.0 0.0 0.0 249 50.0 0.0 16.7 421
o & F E4 381 1000 0.0 0.0 0.0 0.0 0.0 77.2 228 0.0 0.0 619
Ct M CH Z= EH4l 66.7 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 333
7] Ef - - - - - - - - - - - -
<7t E¥ELS>
100 T+ @& 0O ©H 43 1000 137 8.7 10.7 0.0 0.0 43.0 19.6 0.0 42 95.7
100~2002+Q O] 3+ 229 100.0 2.7 1.2 11 7.1 0.0 427 339 7.1 4.1 77.1
200~3000H@l Oj@H 352  100.0 0.0 79 119 124 0.0 40.9 20.1 0.0 6.8 64.8
300~4002t @l OjTH 374  100.0 0.0 15.2 0.0 0.0 0.0 40.1 447 0.0 0.0 62.6
400~5002+ O] 2t 554  100.0 0.0 18.3 0.0 0.0 0.0 46.3 254 0.0 10.0 446
500~6002t ¢l O] TH 844  100.0 0.0 0.0 0.0 0.0 0.0 23.2 76.8 0.0 0.0 15.6
600~7002+@l O|@H 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
700 @t € O] 4 100.0 100.0 0.0 0.0 236 0.0 0.0 27.3 49.1 0.0 0.0 0.0
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25-5. 0|0|8 8F, BMT Fuj

el AFE O REA et

o 5 o =

o] o _ of

B | gﬂ P | o | ws ey [SHA] V| g | BT

A (54 su2 | 20w
ote

2 0 1 71 36.1 100.0 9.7 8.2 1.8 0.1 1.2 44.6 24.0 5.5 5.0 63.9
<% o g >
A X| o 287 100.0 49 9.6 04 0.0 19 455 28.9 3.2 55 71.3
B X| | 473 100.0 14.0 7.1 3.0 0.3 0.5 437 19.6 7.5 4.4 527
< M s>
=1 XH 344 100.0 79 8.6 3.8 0.0 09 426 25.5 7.0 3.7 65.6
o XH 37.8 100.0 11.2 8.0 0.0 0.3 14 46.2 22.8 4.1 6.1 62.2
<8 oy >
x Z=| 213 100.0 26.1 3.0 0.0 0.0 0.0 59.7 6.7 0.7 3.8 78.7
= Z=| 40.7 100.0 10.3 3.6 2.1 0.0 0.0 56.0 234 0.8 3.7 59.3
i Z| 455 100.0 34 16.4 4.0 04 2.7 40.2 13.5 11.7 7.6 545
CH Z| 50.8 100.0 25 5.2 0.0 0.0 09 28.1 55.5 4.6 3.2 49.2
<xm 9oy >
2t 2| Xl 52.2 100.0 23.2 15.5 0.0 0.0 0.0 11.8 23.6 0.0 25.8 47.8
MEI, =M EIH 396 100.0 25 114 0.0 0.0 0.0 17.1 63.8 5.2 0.0 60.4
At = Xl 56.7 100.0 0.0 6.0 0.0 0.0 0.0 29.3 39.8 10.0 149 433
M H| A T Oj =| 547 100.0 3.1 10.2 0.0 0.0 0.0 46.0 34.0 29 3.8 453
s 2 = A R 347 100.0 16.2 8.5 5.2 0.5 0.7 51.5 97 6.7 09 65.3
Jls¥, 7| A% 63.0 100.0 0.0 17.0 0.0 0.0 0.0 333 29.3 0.0 204 37.0
Ch &= & 2 = 433 100.0 0.0 6.3 0.0 0.0 0.0 54.6 39.1 0.0 0.0 56.7
7+ pS| e =1 287 100.0 14.8 10.2 0.0 0.0 3.7 459 97 7.3 8.3 713
7| EH 27.2 100.0 8.2 0.0 2.6 0.0 14 493 32.1 5.5 09 72.8
< o 7 ow >
15 ~ 19 AM|| 489 100.0 0.0 0.0 6.3 0.0 0.0 35.0 58.7 0.0 0.0 51.1
20 ~ 29 M| 372 100.0 0.0 0.0 0.0 0.0 0.0 59.3 40.7 0.0 0.0 62.8
30 ~ 39  M|| 547 100.0 0.0 4.0 0.0 0.0 0.0 15.6 72.5 3.9 4.0 453
40 ~ 49 AM|| 59.5 100.0 3.0 12.1 3.7 0.0 1.2 404 251 9.0 55 40.5
50 ~ 59  M|| 443 100.0 93 13.2 1.6 0.0 2.1 469 12.6 7.0 7.3 55.7
60 A o] A 204 100.0 251 6.4 0.6 0.5 1.1 56.2 09 3.5 57 79.6
65 A o] A 176 100.0 30.6 3.3 0.0 0.0 0.0 60.8 0.7 0.0 4.7 82.4
<o EEE>
ct = S EHl 30.2 100.0 16.5 10.3 34 0.0 1.0 48.5 114 6.2 2.7 69.8
of I} E| 394 100.0 0.0 0.0 0.0 0.0 0.0 5.0 90.6 44 0.0 60.6
o 2l S EHl 535 100.0 0.0 0.0 0.0 0.0 0.0 472 7.0 15.5 30.3 46.5
C} M CH Z= EH| 66.7 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 333
7| gl - : - . - : - : - . - .

<7t7 HEBAE

v

100 @+ @& 0ol ©H 195 1000 310 40 2.8 0.0 0.0 56.3 24 0.0 35 80.5
100~2002t@l Oj@H 352 1000 11.0 11.6 0.0 0.0 0.0 47.6 17.6 8.6 3.7 64.8
200~3000+H@l O|@H 463  100.0 3.0 15.6 9.4 0.0 2.3 311 25.6 13.0 0.0 537
300~4002t @l O/ TH 64.0  100.0 6.2 6.3 0.0 0.0 0.0 36.5 12.7 17.3 21.0 36.0
400~5002H O] 2 433  100.0 0.0 0.0 0.0 0.0 0.0 54.6 325 0.0 129 56.7
500~6002t ¢l OjTH 70.6  100.0 0.0 0.0 8.3 0.0 0.0 0.0 91.7 0.0 0.0 294
600~7002+@l O|@H 100.0 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
700 @+ & O] A 764  100.0 0.0 0.0 0.0 0.0 0.0 357 64.3 0.0 0.0 236
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25-6. S, G4, 2% 5 oi

el AFE O REA et

o o

et pe | B Ly | olEp | TV gt

| gol Ho|H | W | MEH = oo | ZIEE
g | 52 | 228 |52y

2 0 1 7259 100 04 51 05 11 69 693 130 29 07 741
<% ow >
A x| o 272 1000 00 32 00 00 00 82 99 11 06 728
B x| of| 241 1000 11 84 14 30 186 426 181 58 10 759
< M s>
n x| 295 1000 08 82 10 20 126 631 84 40 00 705
o x| 226 1000 00 14 00 00 00 769 185 15 17 774
<# o oE s
% =l 65 1000 00 00 00 00 53 802 109 36 00 935
= =301 1000 23 00 00 00 00 81 148 28 00 699
Il =| 369 1000 00 32 14 29 165 650 59 43 10 631
i =| 488 1000 00 118 00 00 00 651 208 11 11 512
<mYgE s
T x| 584 1000 00 00 00 00 00 84 00 106 00 416
M2, EM2 432 1000 00 333 00 00 00 67 00 00 00 568
A 2 xm| 497 1000 00 69 00 00 00 695 187 00 49 503
M B A o of % 338 1000 00 47 00 00 00 664 289 00 00 662
= 2 2 A m| 205 1000 19 25 24 51 00 704 118 59 00 795
Jlse, 7| A=A 319 1000 00 309 00 00 00 383 309 00 00 681
& = 2 X273 1000 00 00 00 00 00 1000 00 00 00 727
b ™ F =135 12000 00 00 00 00 00 84 47 52 28 865
7| EH 335 1000 00 00 00 00 278 559 142 21 00 665
< o 7 ow >
15 ~ 19 A| 442 1000 00 00 00 00 70 493 368 70 00 558
20 ~ 29 M| 559 1000 00 00 00 00 342 570 88 00 00 441
30 ~ 39 A| 434 1000 00 259 00 00 00 493 248 00 00 566
40 ~ 49 M| 499 1000 00 18 00 44 00 755 104 64 15 501
50 ~ 59 A 291 1000 00 58 25 00 00 760 123 17 17 709
60 A o & 71 1000 16 16 00 00 00 926 13 29 00 929
65 M o 4| 53 1000 00 24 00 00 00 908 22 46 00 947
<HANe EEE>
b = z e 163 1000 14 46 17 36 00 742 91 54 00 837
o0 m  E|[459 1000 00 420 00 00 00 494 63 23 00 541
of g Z =402 1000 00 00 00 00 00 1000 00 00 00 598
c M of = = 667 1000 00 00 00 00 00 00 1000 00 00 333
7| B - ; - ; - - - - - - - -
<7 BEFAS>
100 ot @ of o 76 1000 56 47 71 00 00 740 62 25 00 924
100~2009+9l 0| B 184 1000 00 15 00 88 00 760 137 00 00  8L6
200~3009+% OjgH 321 1000 00 108 00 00 00 661 74 156 00  67.9
300~4009+9l OjBH 361 1000 00 113 00 00 00 775 113 00 00 639
400~5000t gl O/ 641 1000 00 00 00 00 00 886 114 00 00 359
500~6000H9l OjBH 902 1000 00 610 00 00 00 390 00 00 00 98
600~700%+% 08 1000 1000 00 00 00 00 00 1000 00 00 00 00
700 o @ of o 1000 1000 00 00 00 00 00 509 311 180 00 00
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26. 7h70] YR AHIX|E

1002+ 100~200 | 200~300 300~400 | 400~500 500~600 600~700 7002+

alhly QHY OE (2R OjRE | B ORF ) BRI OjEE | 2RRl OjRk | 2R OJ8t Ol &
2 0 1 7 69.2 221 5.8 2.3 0.4 0.1 0.0 0.0
< X o 8 >
A N o] 62.6 25.0 8.2 34 0.6 0.2 0.0 0.0
B N o] 77.5 185 2.8 1.0 03 0.0 0.0 0.0
< M s>
=1 Xt 49.8 36.1 9.5 38 0.6 0.2 0.0 0.0
o Xt 931 5.0 1.2 0.5 0.2 0.0 0.0 0.0
<%y o8 >
EN = 87.3 116 0.7 0.2 0.2 0.0 0.0 0.0
= = 525 37.6 7.9 2.0 0.0 0.0 0.0 0.0
ni = 38.8 414 11.8 6.6 0.7 0.7 0.0 0.0
CH = 113 437 310 113 2.8 0.0 0.0 0.0
<3 Ygwe >
nl3 2| S 16.7 25.0 417 8.3 8.3 0.0 0.0 0.0
HMEJ} ZEZXET} 259 48.1 111 14.8 0.0 0.0 0.0 0.0
N = S 53 316 421 10.5 53 53 0.0 0.0
M H A Tk of & 26.9 385 212 115 19 0.0 0.0 0.0
s & = & A 62.8 305 43 22 03 0.0 0.0 0.0
I8, 7| A xEL 17.6 58.8 235 0.0 0.0 0.0 0.0 0.0
oo e 2O 60.0 371 29 0.0 0.0 0.0 0.0 0.0
243 F2 2 97.7 19 04 0.0 0.0 0.0 0.0 0.0
7| Ef 76.8 194 3.2 0.6 0.0 0.0 0.0 0.0
< o " 4w >
15 ~ 19 AN 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 A 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39 A 7.1 429 429 71 0.0 0.0 0.0 0.0
40 ~ 49 A 18.2 38.2 255 16.4 0.0 18 0.0 0.0
50 ~ 59 A 303 422 174 7.3 2.8 0.0 0.0 0.0
60 A o] & 80.2 17.5 18 0.4 0.1 0.0 0.0 0.0
65 A o] & 84.0 14.8 11 0.0 0.2 0.0 0.0 0.0
<AHo SRE>
L 733 21.0 37 16 04 0.0 0.0 0.0
o} I} E 26.5 41.2 20.6 59 29 29 0.0 0.0
o 7 F EH 10.0 30.0 433 16.7 0.0 0.0 0.0 0.0
Ct M CH Z= EH 0.0 333 333 333 0.0 0.0 0.0 0.0
7| Ef - - - - - - - -
<7t7 YEFAS>
100 2+ @ O] ot 96.4 32 04 0.0 0.0 0.0 0.0 0.0
100~2002+ < O Ot 42.0 54.6 25 0.4 04 0.0 0.0 0.0
200~3002+¥ O] ot 13.0 522 348 0.0 0.0 0.0 0.0 0.0
300~4002+ <l OOt 6.5 38.7 323 22.6 0.0 0.0 0.0 0.0
400~500 2t O] 3t 4.8 9.5 333 381 9.5 4.8 0.0 0.0
500~6002+ <l O Ot 0.0 16.7 50.0 333 0.0 0.0 0.0 0.0
600~7002+Q OOt 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0
700 9+ 2 o] & 0.0 25.0 0.0 50.0 250 0.0 0.0 0.0
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27. 7}39| BEXNHEQ} 0|2

27-1. 7}7o] Hij M

=27t 2 B
oAt THOF [ 1~2% [ 2~3%8 | 3~478 | 4~5H | 5~6% | 6~77 | 7~8% [ 8~9% | 9~10 |10% D}
AA | RO oY | TRl | DER [ SRR | BRRl [ DR | TRl | DHR (MRl /O
ot ojgk | ojer | ofgk | ojgk | ojgk | ojek | ojge | o8k | oojek | A
2 0 1 7| 16.8 100.0 17.9 24.5 16.6 10.6 9.3 5.3 0.7 3.3 2.0 33 6.6
<% o9 o# >
A X| ol 19.6 100.0 184 26.5 16.3 9.2 9.2 51 1.0 3.1 2.0 4.1 51
B X| ol 133 100.0 17.0 20.8 17.0 13.2 94 5.7 0.0 3.8 1.9 19 94
< A | >
=1 I|> 26.6 100.0 16.7 227 174 121 9.1 53 0.8 3.8 1.5 3.8 6.8
OII I|> 4.7 100.0 26.3 36.8 10.5 0.0 10.5 53 0.0 0.0 5.3 0.0 5.3
<%y oE >
B Z| 56 100.0 28.1 313 18.8 6.3 0.0 6.3 0.0 0.0 0.0 3.1 6.3
= =| 327 100.0 15.2 30.3 9.1 3.0 15.2 12.1 0.0 6.1 3.0 0.0 6.1
i} Z| 36.2 100.0 14.5 23.6 20.0 18.2 5.5 3.6 1.8 1.8 1.8 55 3.6
EH Z| 437 100.0 16.1 12.9 16.1 9.7 194 0.0 0.0 6.5 3.2 3.2 12.9
<y o9 oE >
s E| 75! 50.0 100.0 333 16.7 16.7 0.0 16.7 0.0 0.0 0.0 0.0 16.7 0.0
HE 7|-  ENE 7|- 444 100.0 16.7 333 16.7 16.7 0.0 0.0 0.0 83 0.0 0.0 83
A|> L 75! 474 100.0 0.0 111 22.2 111 22.2 0.0 0.0 111 111 0.0 111
A‘I H| A ot EIH 75! 423 100.0 18.2 31.8 0.0 13.6 9.1 18.2 0.0 0.0 45 0.0 45
= g2l = At 75! 22.2 100.0 20.8 18.1 194 111 9.7 4.2 0.0 2.8 0.0 5.6 83
7| ! 7| 71|| Xl 471 100.0 0.0 0.0 37.5 125 25.0 12.5 0.0 0.0 125 0.0 0.0
O & L 75! 25.7 100.0 111 77.8 0.0 111 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7|— pS| S =l 04 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7| E|- 7.7 100.0 25.0 25.0 25.0 0.0 0.0 0.0 8.3 83 0.0 0.0 8.3
<o @ E >
15 ~ 19 k|| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 k|| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 ~ 39 k|| 57.1 100.0 25.0 12.5 125 0.0 125 0.0 0.0 25.0 0.0 0.0 125
40 ~ 49 k|| 52.7 100.0 31.0 13.8 34 17.2 10.3 34 0.0 34 34 34 10.3
50 ~ 59 k|| 38.5 100.0 7.1 26.2 23.8 19.0 7.1 7.1 0.0 0.0 24 4.8 24
60 k|| O| AH 100 100.0 18.1 29.2 18.1 4.2 9.7 5.6 14 2.8 14 2.8 6.9
65 k|| O| A 64 100.0 19.5 29.3 17.1 49 73 49 24 49 24 0.0 73
<AXNe ZEE>
ct = S E_'“ 13.9 100.0 164 233 18.1 12.9 95 6.0 0.9 34 1.7 2.6 5.2
O|> ILf E|[ 559 100.0 31.6 36.8 10.5 5.3 5.3 0.0 0.0 53 0.0 0.0 5.3
o 2l S E_'“ 433 100.0 7.7 231 154 0.0 77 77 0.0 0.0 77 154 154
E|- k|| EH e E_'“ 100.0 100.0 33.3 0.0 0.0 0.0 33.3 0.0 0.0 0.0 0.0 0.0 333
7| B - - - - - - - - - - - - -
<717 YRAS>
100 9t & EI| ok 43 100.0 39.1 34.8 13.0 0.0 4.3 87 0.0 0.0 0.0 0.0 0.0
100~200 2+ & EI| ok 26.5 100.0 22.2 27.0 19.0 95 95 0.0 0.0 3.2 1.6 4.8 3.2
200~300 2+ 2l EI| ok 449 100.0 6.5 226 12.9 12.9 9.7 16.1 3.2 3.2 0.0 3.2 9.7
300~400 2+ & EI| ok 516 100.0 6.3 12.5 18.8 12.5 18.8 6.3 0.0 0.0 125 0.0 125
400~500 2+ <l EI| ok 524 100.0 0.0 9.1 27.3 36.4 0.0 0.0 0.0 9.1 0.0 9.1 91
500~600 2+ & EI| ok 66.7 100.0 25.0 25.0 0.0 0.0 25.0 0.0 0.0 25.0 0.0 0.0 0.0
600~700 2t 2l EI| ok 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
700 Gt 2 O| {\3" 50.0 100.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0
A2 ZAEE, 12017 ZE ARSI AL Z) H HE' SHEY 2HOR AIAY 2UK|
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27-2. 89| FE 0|7

2/l FE olf 2R/7}
gict
an | FES] Loy | gy | 7N E | MEA (aevEs)|
L 7Y Mgy | sx | X3
2 0 1 7| 100.0 35.8 4.0 5.3 9.9 26 424 0.0 83.2
< X 9 48 >
A x| o| 1000 40.8 6.1 41 9.2 31 36.7 0.0 80.4
B x| o| 1000 264 0.0 7.5 113 19 52.8 0.0 86.8
< 4 H >
=1 Xt 100.0 341 45 45 9.1 2.3 455 0.0 734
ol Xt 100.0 474 0.0 105 15.8 5.3 211 0.0 95.3
< 8% 3 o8 >
= Z| 1000 344 0.0 9.4 924 0.0 46.9 0.0 94.4
= Z=| 1000 273 9.1 6.1 121 0.0 455 0.0 67.3
il Z| 1000 345 3.6 5.5 7.3 36 455 0.0 63.8
CH Z=| 1000 484 3.2 0.0 129 6.5 29.0 0.0 56.3
< 3 g 8 >
2 2| =l 1000 50.0 16.7 0.0 16.7 0.0 16.7 0.0 50.0
MBI, ZXME7H 1000 66.7 0.0 8.3 25.0 0.0 0.0 0.0 55.6
A L= Xl 100.0 55.6 0.0 0.0 0.0 333 111 0.0 526
A H A T Of =| 1000 455 45 91 136 45 227 0.0 57.7
S 2 2 A X 1000 16.7 42 238 6.9 0.0 69.4 0.0 77.8
7|59, 7| A =EQ| 1000 37.5 12.5 0.0 0.0 0.0 50.0 0.0 529
o &> & 2 Z| 1000 444 0.0 11.1 222 0.0 222 0.0 743
Jlb 8 = E| 1000 100.0 0.0 0.0 0.0 0.0 0.0 0.0 99.6
7| Ef| 100.0 66.7 0.0 16.7 8.3 0.0 8.3 0.0 923
< 9 3 8 >
15 ~ 19 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
30 ~ 39 A|| 1000 75.0 0.0 0.0 12.5 0.0 125 0.0 429
40 ~ 49 M| 1000 414 0.0 10.3 10.3 6.9 310 0.0 473
50 ~ 59 A|| 1000 333 9.5 24 14.3 438 357 0.0 615
60 AN O A 1000 306 2.8 5.6 6.9 0.0 54.2 0.0 90.0
65 AN O A 1000 317 24 7.3 49 0.0 53.7 0.0 93.6
<ANo EEd>
ch & = Bl 1000 319 5.2 43 8.6 17 483 0.0 86.1
ot o} E| 1000 57.9 0.0 15.8 15.8 10.5 0.0 0.0 44.1
of 2 ZF Ed 1000 308 0.0 0.0 154 0.0 53.8 0.0 56.7
Ct M C§f Z= E4| 1000 66.7 0.0 0.0 0.0 0.0 333 0.0 0.0
7| E} - - - - - - - - -
<7 HHBAS>
100 @ & O of 1000 304 0.0 174 13.0 0.0 39.1 0.0 95.7
100~2000t 2 O/ 8t  100.0 302 1.6 6.3 127 0.0 49.2 0.0 735
200~3000+S O]9  100.0 323 6.5 0.0 9.7 3.2 484 0.0 55.1
300~4000+S O]9  100.0 43.8 125 0.0 6.3 6.3 313 0.0 484
400~5008t <l O/ gH 1000 63.6 9.1 0.0 0.0 91 182 0.0 47.6
500~6000t 2 O/ 8t  100.0 50.0 0.0 0.0 0.0 25.0 25.0 0.0 333
600~700C+S O]9  100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 Tt & o] AH 1000 50.0 0.0 0.0 0.0 0.0 50.0 0.0 50.0
R BYEHE 2017 BE AR AL F) "X o|R" SHEY +HLE AAE LA
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L~
28. L 2ClH| ASH%
28-1. ZH|ur U ASTHH] XIZ HIS

zu

S Zuwy 2SO K B8

(=19 e EN 20~40 | 40~60

BE o | ST M ema| we |[T3Y ma | A | gier | 2 | 2% Jwor | |S0050) 30%

oz | oz g | ojer %% | % oo | oa
<3 - | o

2 0 1 7| 46.2 100.0 61.5 18.7 2.1 15.6 1.9 0.0 0.0 0.1 100.0 86.7 9.6 2.8 0.6 0.3
<% oY >
A X| 9| 475 1000 570 219 35 15.0 2.5 0.0 0.0 0.2 1000 851 125 14 0.4 0.5
B X| S| 443 1000 688 135 0.0 16.6 1.0 0.0 0.0 0.0 1000 903 2.8 59 1.0 0.0
< A | >
=1 Xt 543 1000 699 1438 31 10.0 19 0.0 0.0 0.2 1000 863 9.1 41 0.5 0.0
o XHf 386 1000 505 237 0.9 23.0 19 0.0 0.0 0.0 1000 873 102 11 0.7 0.7
EEEE
x= Z| 335 100.0 695 8.1 0.0 20.7 17 0.0 0.0 0.0 1000 928 7.2 0.0 0.0 0.0
= Z| 375 1000 656 162 0.0 153 2.9 0.0 0.0 0.0 100.0 906 8.2 12 0.0 0.0
i Z| 552 1000 529 271 39 135 2.3 0.0 0.0 0.3 1000 896 7.5 2.9 0.0 0.0
CH Z| 688 1000 616 209 33 129 13 0.0 0.0 0.0 1000 805 130 4.0 17 0.9
<" Y
s 2| Zl1 69.8 1000 459 248 293 0.0 0.0 0.0 0.0 0.0 1000 679 127 9.7 9.7 0.0
MEJ,ZHEZ7H 621 1000 685 104 2.8 151 31 0.0 0.0 0.0 1000 790 16.0 15 34 0.0
At L Xl 942 1000 782 152 19 4.7 0.0 0.0 0.0 0.0 1000 766 209 0.0 0.0 2.6
M H A T 0Of % 615 1000 546 283 15 14.3 13 0.0 0.0 0.0 1000 885 7.1 44 0.0 0.0
= 2 £ A Z| 490 1000 635 212 17 10.2 34 0.0 0.0 0.0 1000 913 52 3.5 0.0 0.0
7ls¥, 7| A =22 100.0 1000 708 132 0.0 16.1 0.0 0.0 0.0 0.0 1000 942 5.8 0.0 0.0 0.0
b &= & B =662 1000 583 192 0.0 225 0.0 0.0 0.0 0.0 1000 956 0.0 44 0.0 0.0
7+ pS| S =] 350 1000 543 159 0.0 279 19 0.0 0.0 0.0 1000 847 130 2.3 0.0 0.0
7| Ef| 227 1000 626 116 44 182 22 00 00 11 1000 922 78 00 00 00
< o 36 4#H >
15 ~ 19 M| 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 ~ 29 M| 153 1000 333 167 0.0 50.0 0.0 0.0 0.0 0.0 100.0 1000 0.0 0.0 0.0 0.0
30 ~ 39 A|| 720 1000 578 213 0.0 18.0 2.9 0.0 0.0 0.0 1000 880 120 0.0 0.0 0.0
40 ~ 49 M| 645 1000 594 299 2.5 8.3 0.0 0.0 0.0 0.0 1000 855 119 14 0.0 11
50 ~ 59 A|| 639 1000 551 257 2.9 14.2 21 0.0 0.0 0.0 1000 845 8.0 6.0 16 0.0
60 A o] AH 391 1000 701 7.6 2.3 171 2.6 0.0 0.0 0.3 1000 873 114 13 0.0 0.0
65 A o] AH 362 1000 715 4.6 2.5 184 2.6 0.0 0.0 04 1000 704 264 3.2 0.0 0.0
<o ERE>
ct = S EH] 50.8 1000 705 139 2.7 11.0 16 0.0 0.0 0.2 1000 865 7.9 4.0 15 0.0
Of I} E| 616 1000 69.2 6.4 8.6 15.8 0.0 0.0 0.0 0.0 1000 86.2 8.6 5.2 0.0 0.0
o = S EH] 849 1000 739 158 0.0 10.2 0.0 0.0 0.0 0.0 1000 855 145 0.0 0.0 0.0
C} M CH Z= EH[100.0 100.0 66.7 0.0 0.0 0.0 333 0.0 0.0 0.0 1000 66.7 333 0.0 0.0 0.0
7| =7
<7 YWBLES>
100 9t @ O] 9H 342 1000 721 7.3 16 174 16 0.0 0.0 0.0 1000 889 111 0.0 0.0 0.0
100~2002+Ql 0|2t 628 1000 705 163 2.6 9.0 13 0.0 0.0 04 1000 878 6.0 6.2 0.0 0.0
200~3008t<l O)OtH 66.6 1000 724 172 11 6.6 2.7 0.0 0.0 0.0 1000 961 39 0.0 0.0 0.0
300~4002tQl 0|2k 8.9 1000 599 236 9.3 7.1 0.0 0.0 0.0 0.0 1000 855 103 0.0 4.2 0.0
400~500 2+ O] 3t 944 1000 76.7 5.9 9.0 8.4 0.0 0.0 0.0 0.0 1000 646 251 51 51 0.0
500~6002tQl 0|2k 941 1000 896 104 0.0 0.0 0.0 0.0 0.0 0.0 1000 896 104 0.0 0.0 0.0
600~7008+<| O] 0H 100.0 1000 1000 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 3t € O] 41000 1000 180 0.0 0.0 509 311 0.0 0.0 0.0 1000 453 311 236 0.0 0.0
Xtz AAHE 12017 B ABIEAL ) ASOH| X2 B2 20174 U7 28
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FH|gta
AR 242

B o 2 FH|g
2 0 1 7 53.8 62.1 379
< X o 8 >
A N o 52.5 57.3 427
B x| of 557 68.8 31.2
< M s>
=1 N3 457 54.7 453
o X 614 673 327
< 8 o oE >
= = 66.5 77.6 224
= = 62.5 63.3 36.7
i = 44.8 44.5 55.5
CH = 31.2 247 75.3
< =% o ¥ >
ot =l | 302 286 714
MBI =27} 379 17.2 82.8
A =} | 5.8 0.0 100.0
M H A @ oOj = 385 27.1 729
£ 2 & A R 51.0 61.6 384
759, 7| AZEY 0.0 0.0 0.0
= S PR = RPN 33.8 53.5 46,5
O o= o= 65.0 79.8 20.2
7] E} 773 60.3 397
< o " # >
15 ~ 19 A 100.0 50.0 50.0
20 ~ 29 A 84.7 39.8 60.2
30 ~ 39 A 280 30.8 69.2
40 ~ 49 A 355 391 60.9
50 ~ 59 A 36.1 56.5 435
60 M O A 60.9 77.9 221
65 M O A 63.8 80.2 1938
<AHo ERE>
o= = oo 492 689 311
of o} E 384 96 904
o a = e 15.1 16.6 834
b A o = = 0.0 0.0 0.0
7| Ef - - -
<7t7 YEFAS>
100 9o+ & O o 65.8 75.8 242
100~2002t @l O] ot 37.2 44.8 55.2
200~300 82l O] ot 334 39.5 60.5
300~4002t @l O] ot 131 814 18.6
400~500 2+ O] 3t 5.6 0.0 100.0
500~600 2t 2l O] ot 5.9 0.0 100.0
600~70082l O]t 0.0 0.0 0.0
700 9t 9 o] A 0.0 0.0 0.0
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29. FEH

SENEE
BN b

29-1. 7| 2 4% HZE
7| Ma e =2 N

o2 ofZk b ofZk o< o< ofZk = ofZk o<

Zrt Zrt LtsuCh | LiseCp | ZC ot ° LisuCh | LfBaCt
2 0 1 7| 39.8 38.9 16.0 4.7 0.6 36.2 40.5 16.1 5.8 1.3
< X o 8 >
A X| gl 324 46.8 13.8 6.1 0.9 32.0 494 129 5.0 0.6
B X| g 509 27.1 194 26 0.1 423 27.3 20.9 7.1 24
< M s>
=1 XH 359 379 20.0 54 0.9 32.2 40.2 199 6.3 13
o Xt 434 39.8 123 41 03 39.8 40.8 12.6 54 13
< 8 o oE >
= Z| 501 40.7 7.1 20 0.1 471 39.2 94 37 0.6
= =l 376 38.7 16.8 58 1.0 329 434 16.8 6.0 0.9
ni = 310 35.3 26.6 6.7 03 293 36.3 24.0 9.1 12
CH Z( 321 40.5 19.0 6.7 16 251 47.7 184 54 35
<3 Ygwe >
o 2| 2l 235 63.0 54 8.1 0.0 6.2 80.3 54 8.1 0.0
MEI,ZHEZ7H 158 37.8 218 246 0.0 16.0 49.6 122 18.8 34
N = 21190 53.9 16.1 6.9 41 14.5 554 20.2 10.0 0.0
M H A @ oj =] 251 446 22.9 6.2 12 238 46.8 17.7 11.7 0.0
s g £ M Z| 504 354 11.7 14 11 45.0 36.0 12.6 4.8 15
Jls8, 7| A==l 359 534 10.7 0.0 0.0 314 35.9 28.2 0.0 4.5
o 2 B2 OX 299 33.2 348 21 0.0 26.7 342 348 11 32
2 3 F E| 485 393 8.0 4.3 0.0 440 419 8.2 42 18
7| E}| 34.8 35.2 253 47 0.0 339 35.5 264 39 0.2
< o 36 4#H >
15 ~ 19 M| 376 233 237 155 0.0 422 171 329 7.7 0.0
20 ~ 29 M| 220 29.5 433 51 0.0 195 321 38.8 7.1 2.6
30 ~ 39 M| 152 36.6 28.8 17.2 22 151 435 241 151 2.1
40 ~ 49 M| 357 381 19.2 6.1 0.9 257 446 171 9.4 32
50 ~ 59 M| 419 431 114 2.6 1.0 37.5 443 13.2 4.0 1.0
60 A o] At 480 40.6 9.1 21 0.2 449 40.6 10.1 37 0.7
65 A 0] A 497 40.1 8.0 21 0.1 46.5 39.3 9.6 39 0.7
<HXC ZBRE>
oL & F  EHl 461 411 10.3 19 0.6 417 41.8 11.8 34 12
o} I} El 69 174 436 29.2 29 4.0 429 239 254 38
oA g F=  EHl 367 46.9 164 0.0 0.0 29.2 52.6 139 43 0.0
Ct M CH Z= EH 0.0 66.7 333 0.0 0.0 333 333 333 0.0 0.0
7| Ef - - - - - - - - - -
<7t7 YEFAS>
100 B+ € 0O g 513 37.0 9.1 21 0.5 46.7 37.8 104 42 0.9
100~2002+Q O] 3+ 387 39.5 13.0 7.9 0.9 326 39.6 15.8 9.3 2.8
200~3008tel O/OH 314 436 239 11 0.0 338 46.0 18.2 2.1 0.0
300~4002+Q O] 8k 333 544 83 41 0.0 333 56.5 10.2 0.0 0.0
400~5002t<] O] 3t 30.6 54.5 14.8 0.0 0.0 30.6 49.0 204 0.0 0.0
500~6002+Q Oj2H 9.8 19.6 60.9 0.0 9.8 0.0 100.0 0.0 0.0 0.0
600~7000t2] O/OH 0.0 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
700 2+ 2 o] A 509 491 0.0 0.0 0.0 27.3 72.7 0.0 0.0 0.0
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=2 =
EYNLE 28, HE HZE

o2 of 2t b of 2t o2 o2 of 2t b of 2t o2

=Ct ECt LtsaCt | Lyssct [ ECE ECt LiseCt | LpHeCh
2 0 1 7| 33.2 41.7 18.2 5.3 1.5 28.9 40.8 221 5.6 2.6
< X o 8 >
A N gl 26.2 491 19.2 39 17 218 46.4 238 47 33
B X| o 437 30.8 16.9 7.5 12 39.5 324 19.7 6.8 17
< M s>
= XH 292 40.8 199 8.7 14 26.3 40.7 22.2 73 35
o Xt 37.0 426 16.7 22 15 313 40.9 221 39 18
<%y o8 >
EN = 437 427 120 12 03 38.6 415 17.8 16 0.5
= = 306 421 213 3.8 22 235 41.8 274 47 2.6
i} & 251 35.2 23.8 13.8 21 246 33.2 24.8 11.3 6.1
CH = 247 49.2 20.9 2.8 24 18.6 499 23.0 6.3 2.2
<3 g e >
ot 2| S 6.2 80.3 0.0 135 0.0 15.0 65.3 6.2 54 8.1
MEI,ZHMEZ7H 169 342 30.0 9.5 94 7.1 30.5 35.7 94 17.3
N L 2l 106 74.1 153 0.0 0.0 10.3 66.2 17.6 5.9 0.0
M H A = of &| 195 434 27.1 10.0 0.0 14.8 404 30.7 114 2.6
s 3 £ M Z] 428 37.6 143 4.0 13 399 37.8 19.7 24 0.2
Jls8, 7| A x=ERl 228 445 218 0.0 109 26.6 325 41.0 0.0 0.0
o - 2 X 234 36.0 40.6 0.0 0.0 15.2 421 339 2.1 6.7
23 F B 399 443 121 20 17 35.5 431 171 25 18
7| Et[ 32.0 36.3 211 10.6 0.0 252 38.0 219 116 33
< o " 4w >
15 ~ 19 M| 345 233 345 7.7 0.0 124 38.7 345 6.6 7.7
20 ~ 29 M| 220 321 171 26.2 2.6 120 37.0 29.3 191 2.6
30 ~ 39 A 8.6 41.0 418 4.2 4.3 129 30.2 37.5 6.4 129
40 ~ 49 M| 244 458 211 6.6 19 20.8 457 189 8.6 6.0
50 ~ 59 M| 347 445 155 2.6 2.6 29.2 46.0 19.0 5.8 0.0
60 A o] A 414 427 134 20 04 38.5 39.7 193 19 0.6
65 A o] A 429 421 129 16 0.5 39.3 395 18.7 20 0.5
<7AXe EE¥>
o & F  EHl 388 440 149 17 0.7 35.2 42.8 18.0 25 15
(o]3 I} El 69 17.7 49.5 19.2 6.8 29 15.7 449 193 17.2
%] g F= Ei 169 57.8 133 7.7 4.3 14.0 499 243 11.8 0.0
C} M CH Z= EH 0.0 66.7 333 0.0 0.0 333 333 333 0.0 0.0
7| E} - - - - - - - - - -
<7t7 YEFAS>
100 B+ € O g 450 404 124 15 0.7 416 39.3 15.3 20 19
100~2002+9 O/ 0H 308 393 19.8 7.1 31 27.7 389 249 52 33
200~3008tQl O/OH 224 473 26.6 3.7 0.0 223 353 255 114 55
300~4002t9l OO 215 65.1 135 0.0 0.0 174 62.5 20.1 0.0 0.0
400~5002te] O] 3t 24.2 60.9 14.8 0.0 0.0 15.7 65.2 9.8 9.3 0.0
500~6002t<] O] 2+ 0.0 391 60.9 0.0 0.0 0.0 352 64.8 0.0 0.0
600~7002t% O/3H 0.0 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
700 2+ 2 o] A 509 491 0.0 0.0 0.0 273 72.7 0.0 0.0 0.0
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=Xed N2 e

o ozt us o2t o

ZCt ECt ° Lise ot et
2 0 1 7 27.3 36.5 29.1 5.9 1.2
< X o 8 >
A N o] 224 435 281 5.2 0.8
B N o] 346 26.1 305 6.9 19
< M s>
= N3 255 355 315 5.7 18
o] N3 29.0 37.6 26.8 6.0 0.7
<% oy >
EN = 334 37.3 25.2 37 0.3
= = 24.5 441 224 6.4 25
ni = 233 250 391 10.1 26
CH = 224 459 281 37 0.0
<3 Y98 >
nl3 2| S 20.0 511 6.2 227 0.0
MEI,ZEZHE I} 11.2 40.4 353 116 15
N 2 S 6.9 56.8 309 34 20
M H A Tk of & 211 353 30.2 13.0 0.5
s & = & A 343 349 251 46 12
I8, 7| A xEL 18.0 21.8 49.5 0.0 10.7
oo e 2O 157 36.3 48.0 0.0 0.0
2 3 OF2 = 29.6 37.2 28.2 44 0.7
7| Ef 30.0 341 28.7 5.7 15
< o " # >
15 ~ 19 AN 24.8 41.8 124 20.9 0.0
20 ~ 29 A 26.6 224 439 7.1 0.0
30 ~ 39 A 8.6 458 36.9 8.6 0.0
40 ~ 49 A 219 350 338 7.1 2.2
50 ~ 59 A 25.2 40.6 245 6.1 3.6
60 A o] & 331 36.0 26.9 34 0.5
65 A o] & 337 359 26.2 3.6 0.5
<AHo SRE>
o0 =5 x H 29.7 36.9 28.8 3.2 14
o} ot E 6.9 26.9 46.2 16.3 37
1% I~ I 215 491 17.0 8.0 43
Ct M CH = EH 333 333 333 0.0 0.0
7| Ef - - - - -
<7t7 YEFAS>
100 2+ @ O] ot 36.8 357 234 35 0.6
100~2002+ < O Ot 220 324 37.7 6.5 13
200~3002+¥ O] ot 151 310 42.1 6.7 51
300~4002+ <l OOt 184 484 27.0 0.0 6.2
400~500 2t O] 3t 220 534 20.9 0.0 37
500~6002+ <l O Ot 9.8 90.2 0.0 0.0 0.0
600~7002+Q OOt 0.0 100.0 0.0 0.0 0.0
700 9+ 2 o] & 50.9 49.1 0.0 0.0 0.0
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 ~
30. 2tFH WX
30-1. MY I7|(SME X 22 HiE U 24 = JHIE FY
we7(g4E B8 22 S 248 gH g 5
e | e | 2= L ER | o | e | 22 DO
e | oo | =2 | e | HE 1 HE | e | 2
et | e et | e

2 0 1 7 55.9 33.7 8.0 24 55.9 35.7 6.5 2.0
<x oo oE >
A X| o 56.4 325 8.3 2.8 54.8 34.2 84 2.6
B X| A 55.3 354 7.6 17 57.5 379 3.6 10
< M s>
=1 N3 50.1 34.0 12.7 3.1 49.8 37.6 10.0 2.6
of x| 613 334 36 17 616 3338 32 13
<# o oE s
x= = 59.1 336 6.0 13 62.5 311 52 12
= = 57.3 30.1 8.9 3.6 57.5 29.2 10.5 2.8
i} = 53.6 32.8 11.2 24 50.9 421 4.8 2.1
CH = 51.2 38.5 6.7 3.5 47.1 41.7 84 2.8
<% o g >
o 2| S| 349 58.9 6.2 0.0 441 41.6 14.3 0.0
HMEJ} ZEZXET} 45.3 48.2 6.5 0.0 40.3 533 6.5 0.0
N = S| 54.2 36.4 39 55 442 395 10.8 55
M H A = of = 53.7 395 41 2.7 514 42.0 39 2.7
s 2 = A A 59.9 33.2 47 2.2 60.6 338 4.0 17
Jesd, 7| A =% 77.5 225 0.0 0.0 70.0 30.0 0.0 0.0
Ch = & 2 = 57.3 284 10.0 4.4 574 28.2 12.1 2.2
2 3 OF2 = 67.6 28.8 2.7 0.8 68.5 28.8 2.0 0.7
7| Et 37.5 341 23.8 4.5 39.6 41.0 15.6 3.8
<®y g >
15 ~ 19 | 411 357 171 6.2 535 202 233 31
20 ~ 29 M| 372 340 262 26 295 60.8 7.1 26
30 ~ 39 | 458 47.7 42 22 414 50.0 6.4 22
40 ~ 49 A| 530 380 6.1 28 514 3838 8.1 18
50 ~ 59 A 63.5 30.2 41 2.2 62.6 31.8 39 1.7
60 A o A 59.9 314 6.7 2.0 61.7 30.5 5.8 19
65 A o] A 58.9 321 6.9 2.1 61.0 30.9 6.1 2.0
<HHel ZRE>
b = = HA 57.8 324 7.5 2.3 584 32.8 6.8 2.0
o} o} E 46.4 50.7 2.9 0.0 38.6 58.5 29 0.0
A = = EH 55.0 303 6.6 8.0 52.5 32.8 10.9 3.8
Ct M CH = EH 0.0 100.0 0.0 0.0 333 333 333 0.0
7| gl - - - - - ; - -
17 BEBAS
100 o+ @ o] ot 56.2 33.8 7.0 29 59.6 32.0 6.1 24
100~2002t @l O] ot 55.3 35.2 74 21 53.5 37.7 6.6 2.1
200~300 82l O] ot 56.5 394 2.1 21 56.0 374 6.6 0.0
300~4002t @l O] ot 66.5 294 41 0.0 53.0 429 41 0.0
400~500 2+ O] 3t 521 209 214 5.6 42.9 247 26.9 5.6
500~600 2t 2l O] ot 64.8 35.2 0.0 0.0 64.8 35.2 0.0 0.0
600~700 82l O] Ot 100.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
700 3t 2 O] At 273 311 41.7 0.0 58.3 23.6 18.0 0.0
AR BAEE, 12017 BE AFS| AL

- 233 -



30-2. EMH AFES EY U 12|8F A2 &2
SHUMA ABS EY 58E A8S 5O
oo | ex | 22 | E° oo | ez | 2= | E°
T - L HBIK 245 T < K| 2451 %|
EEUH | =HAC g | g | EEEH | EREE ol | geg

2 0 1 7 39.8 46.3 111 2.7 41.6 423 13.0 3.1
<X 9 og >
A X| o 33.9 49.6 12.5 4.0 34.7 48.2 131 4.0
B X| o 48.7 414 9.0 0.9 51.9 336 129 1.6
< M s>
=1 N3 35.1 445 164 4.1 37.1 41.2 179 3.8
o N3 44.3 48.1 6.2 15 458 434 8.5 24
<% oz og >
= = 49.6 415 74 15 52.0 35.3 9.8 2.9
= = 409 40.7 13.0 54 415 45.0 10.2 33
i = 33.0 50.8 13.7 24 36.2 433 17.7 2.8
CH = 274 554 136 3.7 26.7 54.2 154 3.7
<% g g >
o 2| S| 12.3 67.2 204 0.0 14.8 62.8 223 0.0
MEI,ZEZHE I} 18.8 614 19.8 0.0 23.7 53.6 22.7 0.0
N = S| 23.7 60.0 10.8 55 27.3 48.6 18.7 55
MH Ao oo x| 227 66.8 7.8 27 305 58.1 75 39
s 2 = A A 46.9 457 54 2.0 46.6 40.7 9.8 2.9
Jesd, 7| A =% 45.0 439 11.2 0.0 40.7 473 120 0.0
Ch = & 2 = 45.0 40.0 10.8 4.1 38.2 46.8 10.8 41
7 A e = 53.6 40.7 49 0.8 55.1 36.3 7.0 15
7| Et 29.2 37.3 26.9 6.6 32.6 37.0 24.9 55
<oy Y >
15 ~ 19 A 40.7 20.6 27.9 10.8 39.2 453 124 31
20 ~ 29 A 14.8 539 28.8 2.6 19.3 443 339 2.6
30 ~ 39 A 131 72.0 10.6 4.3 131 74.0 8.6 43
40 ~ 49 A 32.6 51.7 139 1.8 35.1 413 20.9 2.7
50 ~ 59 A 475 43.6 6.2 2.6 43.6 46.2 8.1 2.1
60 A o A 474 424 8.0 2.2 514 35.0 10.1 34
65 A o] A 47.2 42.0 8.5 2.2 511 345 110 34
<ANe ERE>
c = S EH 459 434 84 24 46.3 38.8 120 2.9
o} o} E 8.7 69.6 21.7 0.0 24.8 58.2 14.0 2.9
o 2l S EH 225 59.1 14.7 3.8 26.2 50.1 20.0 3.8
Ct M CH = EH 0.0 66.7 33.3 0.0 0.0 66.7 333 0.0
7| B} - - - - - - - -
<7 BWIAS>
100 o+ @ o] ot 49.0 40.7 7.6 2.8 547 31.8 10.1 34
100~2002t @l O] ot 414 454 11.0 21 39.9 425 139 3.7
200~300 82l O] ot 31.7 59.0 8.0 14 284 61.2 10.5 0.0
300~4002t @l O] ot 294 624 8.1 0.0 294 53.1 17.5 0.0
400~500 2+ O] 3t 27.9 409 25.6 5.6 25.0 426 26.9 5.6
500~600 2t 2l O] ot 0.0 844 15.6 0.0 9.8 804 9.8 0.0
600~700 82l O] Ot 0.0 100.0 0.0 0.0 0.0 0.0 100.0 0.0
700 3t 2 O] At 27.3 31.1 41.7 0.0 27.3 31.1 417 0.0
A2 GAE, 120 S AFS| AL
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[= ] x
HHNAE 7Y 87 U xEEses 8
e | e | 22 | B ae | oen | 22| DO
S I I B I e =T I
e | erent A

2 0 1 7 6.3 25.3 29.5 38.9 12.1 16.1 26.5 454
<x oo oE >
A X| o 6.0 29.8 24.6 39.6 10.2 146 254 49.8
B X| o 6.8 18.6 36.8 37.8 14.9 18.3 28.1 38.7
< M s>
=1 N3 5.5 27.8 314 353 11.7 17.0 30.8 40.5
o N3 7.1 23.0 27.7 422 125 15.2 224 49.9
<o oE s
x= = 3.0 14.1 27.3 55.5 10.0 8.6 204 61.0
= = 9.1 25.2 26.6 391 14.9 15.0 25.0 45.2
i} = 10.7 317 354 22.2 14.8 17.8 354 32.0
CH = 44 40.8 27.7 27.2 10.0 315 27.5 31.0
<% Y g >
o 2| S| 0.0 37.2 48.6 143 0.0 40.2 33.9 25.8
MEI,ZEZHE I} 3.8 36.8 38.7 20.7 2.6 311 43.6 22.7
N = S| 5.8 315 42.9 19.8 18.0 20.8 25.2 36.0
M H A = of = 42 419 31.8 221 55 215 345 38.5
s 2 = A A 53 219 22.0 50.7 12.0 129 20.3 54.8
Jesd, 7| A =% 5.6 40.9 42.0 116 13.8 19.3 50.8 16.1
Ch = & 2 = 12.0 14.6 38.0 354 14.3 11 316 53.0
7 A F = 43 22.0 264 47.3 11.8 144 210 52.8
7| Et 11.6 214 333 337 174 16.6 30.0 36.0
< o 7 ow
15 ~ 19 A 26.8 31.0 29.8 124 34.5 341 19.0 124
20 ~ 29 A 9.7 31.7 36.2 224 12.2 14.9 433 29.5
30 ~ 39 A 0.0 393 39.1 216 2.2 28.7 38.8 30.3
40 ~ 49 A 10.7 39.0 294 209 11.8 32.2 249 31.0
50 ~ 59 A 8.2 27.5 254 38.9 16.0 143 27.2 42.5
60 A o A 2.7 16.3 28.2 52.8 9.6 8.8 22.1 59.5
65 A o] A 2.5 15.0 27.7 54.7 8.4 8.5 213 61.8
<HHel ZRE>
b = = HA 3.6 21.2 25.6 49.6 10.8 12.9 20.2 56.2
o} I} E 2.0 315 57.6 9.0 9.6 29.5 52.0 9.0
A = = EH 9.6 47.6 28.7 141 8.1 29.8 34.6 27.5
Ct M CH Z= EH 0.0 66.7 333 0.0 0.0 333 66.7 0.0
7| gl - - - - - ; - -
17 BEBAS
100 o+ @ o] ot 4.0 147 26.1 55.2 13.2 104 17.0 594
100~2002t @l O] ot 2.0 253 27.6 45.0 7.5 171 26.5 48.9
200~300 82l O] ot 2.1 40.3 30.8 26.8 5.6 20.2 348 394
300~4002t @l O] ot 104 274 414 20.7 13.7 114 31.2 437
400~500 2+ O] 3t 8.7 299 331 28.2 124 16.2 324 39.0
500~600 2t 2l O] ot 0.0 74.6 254 0.0 0.0 74.6 15.6 9.8
600~700 82l O] Ot 0.0 100.0 0.0 0.0 100.0 0.0 0.0 0.0
700 3t 2 O] At 273 311 236 18.0 27.3 0.0 54.7 18.0
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31 OfL{x| MO A

of4%| ofuix| For H YE A
Horg Horg
wpock otz amen | (B0 | 28
2| g | EAs | axay | SO0 | ase
- o %3

2 0 1 7| 534 100.0 38.6 23.1 335 4.7 0.1 46.6
< x o E >
A x| & 529 100.0 46.1 19.3 309 37 0.0 471
B x| & 54.2 100.0 27.5 287 37.3 6.2 0.2 458
< M Ho>
= Xt 60.3 100.0 338 239 352 7.1 0.0 39.7
o Xt 46.9 100.0 443 221 315 18 0.2 531
<% oHoE >
E E| 288 100.0 574 216 157 49 0.5 712
= = 571 100.0 452 211 316 21 0.0 429
I E| 696 100.0 36.7 14.9 423 6.1 0.0 304
CH E| 804 100.0 216 36.6 374 44 0.0 196
<® o g >
ot 2| S| 64.0 100.0 253 524 22.3 0.0 0.0 36.0
HEJ, =274 563 100.0 154 57.9 26.7 0.0 0.0 437
A} =2 S| 80.0 100.0 185 23.7 535 4.3 0.0 20.0
Al H & oo A 56.8 100.0 328 237 42.7 0.7 0.0 43.2
s 8 = A& 48.0 100.0 50.3 15.0 274 7.3 0.0 52.0
s 7 A=A 90.2 100.0 27.3 381 34.7 0.0 0.0 9.8
= 20 63.0 100.0 171 138 62.8 6.4 0.0 37.0
2t 3 F B[ 390 100.0 455 30.8 20.9 2.3 0.5 61.0
7| EH 653 100.0 40.5 153 36.6 7.6 0.0 347
<9 >
15 ~ 19 A 814 100.0 50.1 228 27.1 0.0 0.0 18.6
20 ~ 29 AN 77.8 100.0 281 33 59.5 9.1 0.0 22.2
30 ~ 39 A 67.6 100.0 193 29.2 484 31 0.0 324
40 ~ 49 A 70.5 100.0 244 319 375 6.2 0.0 29.5
50 ~ 59 A 66.7 100.0 382 25.2 328 38 0.0 333
60 Al o A 321 100.0 55.2 23.2 17.4 40 0.3 67.9
65 A o] #f 276 100.0 56.3 23.7 16.1 39 0.0 724
<ANe ZRE>
L =5 F  EH 437 100.0 42.8 22.0 28.5 6.6 0.0 56.3
of ut E 52.2 100.0 129 49.8 37.3 0.0 0.0 47.8
oa #d = = 83.0 100.0 25.7 40.0 343 0.0 0.0 17.0
Ct M Cf = Ed 66.7 100.0 0.0 50.0 50.0 0.0 0.0 333
7| e - - - - - - - -
<t7 Y¥BLS>
100 @+ & O] @H 288 100.0 56.6 26.2 141 31 0.0 71.2
100~2002t O|@H 54,0 100.0 395 171 333 10.1 0.0 46.0
200~3000F @l OBt  66.3 100.0 254 24.0 454 5.2 0.0 337
300~400CF @l Ojgt 757 100.0 30.3 334 36.2 0.0 0.0 24.3
400~500 ) o2k 597 100.0 22.6 374 40.0 0.0 0.0 403
500~600 2t O3 100.0 100.0 9.8 64.8 254 0.0 0.0 0.0
600~7002F @l O/ 2t 100.0 100.0 0.0 100.0 0.0 0.0 0.0 0.0
700 B+ & o] A 820 100.0 0.0 71.2 28.8 0.0 0.0 18.0
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(2491 - %)
1=9 2&9
o| & e
] sl I 3 ] sl I 3
T RO ] R oz MAIZH L AL N RS ] P o|z MAIZH LAt
= |E EH ol oM |7 —| : X £ | &= = |E EH o oM |7 —| . x| &=
§|_§ ES o %"EIJ E?jﬂ S o= §|_§ x| Fo AE|-EI_| E?j§F S o=
27 [ L [HEs s o 2 7‘H_ FEo| WX | 7IEH| &AL L |HEH SR o 2 7IH_ ZFol| AR | 7IEH
x & = = =2 S xS - = =2 S
= | 2SS :r N R R = | EEE s :r M AR
MES L x| s [BEM] H s |t MES L o | g BN H s =Mzt
EEH o = =S o A4 2 ='S2 EEH o = =S o A 2 = o2
S A =S S A ='o
(=4 o

2 0 1 7|100.0 40.8 20.6 114 7.1 86 08 107 0.0 1000 53 118 11.6 160 179 4.6 32.6 0.0
< X o B >

A x| (1000 357 244 115 81 98 07 98 00 1000 39 108 107 199 152 56 340 0.0
B x| <1000 483 150 112 56 69 09 122 00 1000 75 133 131 103 219 31 306 Ol1
< M Hoo>

Lt X 1000 456 177 117 58 67 06 118 00 1000 52 112 128 165 157 44 343 00
o X 1000 362 234 111 82 104 09 98 00 1000 55 124 106 156 200 48 311 01
< % 38 >

E Z|1000 465 271 28 80 77 09 69 00 1000 58 168 82 125 227 37 302 01
= Z£|1000 450 144 125 53 87 09 131 00 1000 50 109 92 175 168 43 364 00
il Z£|1000 438 189 109 51 65 10 138 00 1000 56 103 142 172 159 46 321 00
]| Z|1000 192 144 304 96 140 00 125 00 1000 42 38 176 208 113 68 354 00
<" g8 >

Zt 2| %1000 368 29 197 154 81 00 171 00 1000 00 110 204 278 58 178 173 0.0
ME7, =8 & 741000 323 160 316 65 121 00 15 00 1000 34 96 168 328 50 35 289 00
Ab =1 %1000 178 151 254 194 59 00 164 00 1000 92 00 156 282 152 87 230 0.0
M H 2 = of %1000 158 264 197 88 128 13 153 00 1000 00 87 84 140 223 98 368 00
= & £ 4 =11000 630 118 48 71 38 11 83 00 1000 80 158 82 156 219 34 271 00
Jls¥, 7| A ==t(100.0 312 214 82 45 210 00 138 00 1000 00 152 56 73 119 00 600 00
o &= & 2 %1000 348 205 100 37 51 11 247 00 1000 179 92 172 104 85 78 290 0.0
2t ¥ F= H[1000 369 295 52 74 110 08 92 00 1000 52 132 80 133 250 33 319 02
7] Ef(100.0 370 218 168 35 94 05 110 00 1000 25 93 199 160 76 34 413 00
S

15 ~ 19 A|1000 310 47 329 00 171 00 143 00 1000 00 31 190 279 31 7.7 392 00
20 ~ 29 AM|1000 313 264 175 26 51 00 171 00 1000 26 00 339 122 220 00 293 00
30 ~ 39 A|1000 280 151 305 21 87 00 156 00 1000 112 43 129 194 88 86 349 00
40 ~ 49 M|1000 347 95 162 126 109 10 151 00 1000 35 74 160 215 129 55 332 00

50 ~ 59 AM[1000 452 163 119 74 95 00 97 00 1000 41 128 110 169 127 58 367 00
60 A O AH1000 450 274 35 75 76 13 76 00 1000 63 172 59 131 236 39 299 01
65 A O AH1000 440 290 33 76 79 11 71 00 1000 56 177 63 132 244 38 290 01
<HM BERE>

o = x &1000 486 220 60 67 66 08 93 00 1000 57 147 72 149 216 42 316 01
of o} £[1000 294 82 300 42 155 00 127 00 1000 75 114 81 318 47 62 303 00
o @ = 1000 236 71 292 106 209 00 87 00 1000 43 77 124 156 42 40 517 00
Cb M Cf = =/1000 333 00 333 333 00 00 00 00 1000 00 00 333 333 00 333 00 00
7| B - .. - ..

_

100 2+ @ 0O
100 ~ 20080
200 ~ 300%tQiO
300 ~ 40000
400 ~ 500g+2i0
500 ~ 60000
600 ~ 7008tgI0
700 oF & 0]

1000 461 288 24 73 80 04 71 00 1000 56 152 69 138 229 39 316 02
100.0 553 121 90 58 66 14 99 00 1000 66 160 64 179 180 59 292 00
100.0 40.6 142 182 52 60 11 147 00 1000 42 111 88 23.0 147 42 341 00
1000 376 117 58 97 210 00 141 00 1000 71 126 110 112 220 27 332 00
100.0 15.7 256 213 141 42 00 191 0.0 1000 37 22 141 289 64 42 404 00
1000 59 00 746 98 98 00 00 00 1000 00 59 98 98 98 00 648 00
1000 00 00 #### 00 00 00 00 00 1000 #### 00 00 00 00 00 00 00
1000 311 00 453 00 236 00 00 00 1000 0O 00 311 00 00 180 509 0.0
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OtmtE 74 S us-2ZotAE0 | 2/=AIZ0 Chst EN S H&-HEX
7|Et
FHANE &5 Chot Tt 2 S XF FX &y Ared =toh et H=H X

2 0 1 7 5.5 20.1 131 48.8 123 0.1
< X o ¥ >
A x| o 25 18.2 116 535 14.0 0.2
B x| 9 10.1 228 153 419 9.9 0.0
< M H >
=1 Kt 49 215 9.6 50.5 135 0.0
o Kt 6.2 18.7 16.4 473 11.2 0.3
< 8% 3 o8 >
EN = 29 16.2 20.8 459 14.2 0.1
= ES 8.2 203 94 494 121 0.6
i ES 4.0 243 5.9 51.8 14.0 0.0
CH ES 115 220 10.3 50.5 5.6 0.0
< % A8 >
ot 2| S| 0.0 374 9.2 50.4 29 0.0
HMEJ}ZFHET} 14.4 29.7 6.6 46.4 29 0.0
At =2 S| 34 29.2 0.0 61.8 55 0.0
M H A T Of = 14.3 16.4 9.1 429 16.3 0.9
s & = & F 4.5 20.0 9.9 44.8 20.6 0.2
@, 7| AZ=E R 43 12.0 17.5 59.8 6.4 0.0
s e 2O 29 18.9 49 65.2 81 0.0
¥ OF 2 26 17.2 222 471 10.8 0.0
7| Et 5.7 216 134 53.0 6.2 0.0
<482 >
15 ~ 19 A 12.8 221 0.0 574 7.8 0.0
20 ~ 29 A 147 217 7.1 494 7.1 0.0
30 ~ 39 A 155 174 8.8 56.2 21 0.0
40  ~ 49 A 3.0 30.0 6.8 504 9.0 0.7
50 ~ 59 A 5.6 227 84 483 151 0.0
60 Al o] & 22 16.0 203 46.5 149 0.1
65 Al o] & 17 15.8 220 46.9 13.6 0.1
<HANe FRE>
o5 F H 2.8 19.7 14.6 50.2 12.8 0.0
of ot E 254 219 29 481 17 0.0
a & F E 5.6 243 11.2 40.8 18.1 0.0
Ct M CH Z= EH 0.0 333 0.0 66.7 0.0 0.0
7| Ef - - - - - -
ST BB WS
100 9t & O] ot 17 14.6 221 51.6 9.9 0.0
100 ~ 2002t Of 2t 3.6 227 9.0 49.5 15.2 0.0
200 ~ 3002+l 0|2t 12.6 20.7 5.7 484 12.6 0.0
300 ~ 4002+l 0|2t 0.0 327 0.0 48.5 18.8 0.0
400 ~ 500%t@i0 2t 0.0 334 0.0 56.7 9.8 0.0
500 ~ 6002t 0f 2t 55.0 294 0.0 9.8 59 0.0
600 ~ 7002+l O] 2t 0.0 100.0 0.0 0.0 0.0 0.0
700 9t & o A+ 0.0 453 0.0 54.7 0.0 0.0

XHE  HAEE 12017 AL AFE| AL,
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o i
(E2l : %)
2SE0) ot

ax sYe | Hn s

HE gt | AU 2% g5yl 32 Hey o e | HOEAE

SR B oA |gemes| S0 | sus ay ijiéfoffl run | HeFE [ e

U = g | BAE N B HERS) oy

2 0o 1 7| 620 38.0 100.0 63.7 158 41 8.5 38 3.5 0.6
< X o ¥ >
A N o 636 364 1000 58.8 203 44 49 55 49 11
B N o 600 400 1000 694 106 38 125 19 19 0.0
< M Hoo>
o X 490 51.0 1000 628 154 43 99 32 36 058
of x| 780 220 1000 66.3 16.9 34 45 56 34 0.0
<% 89 >
ES =| 642 358 1000 67.5 155 29 73 39 29 0.0
= | 455 54.5 1000 65.5 109 73 91 36 36 0.0
nl s 572 428 1000 538 200 31 92 46 62 31
r} =l 775 225 1000 50.0 1838 125 188 00 0.0 0.0
< %Yo >
o 2| x| 833 16.7 1000 50.0 00 00 00 50.0 0.0 0.0
M2, =2H27 93 37 1000 00 00 1000 00 00 0.0 0.0
A o x| 947 53 1000 1000 00 00 00 00 0.0 0.0
M oH A moof x| 923 77 1000 50.0 00 00 50.0 00 0.0 0.0
= o2 2 A x| 18 98.2 1000 64.3 157 41 758 38 38 06
J5e, 7| A=Y 765 235 1000 250 50.0 00 250 00 0.0 0.0
o o& = 9 x| 943 57 1000 50.0 50.0 00 00 00 00 00
3 N = 2| 988 12 1000 66.7 333 00 00 00 0.0 0.0
7| et 961 39 1000 833 00 00 167 00 00 00
< 9@ w >
15 ~ 19 A| o0 0.0 0.0 0.0 0.0 0.0 00 00 00 00
20 ~ 29 | 1000 0.0 0.0 0.0 0.0 00 00 00 00 00
30 ~ 39 A| 857 143 1000 50.0 00 50.0 00 00 0.0 0.0
40 ~ 49 M| 782 218 1000 50.0 16.7 167 83 83 00 00
50 ~ 59 A| 505 495 1000 64.8 16.7 19 93 37 37 00
60 M o A 620 380 1000 64.2 157 36 8.4 36 36 07
65 M o A 646 354 1000 656 16.3 31 7.9 35 31 04
<HXNCO ZERE>
B = = el 600 400 1000 64.0 16.2 39 81 39 33 06
of o el o912 838 1000 333 00 333 00 00 333 0.0
o 7 = =l 833 16.7 1000 60.0 00 00 400 00 00 00
ob oMo F oe| 667 333 1000 1000 00 0.0 0.0 0.0 0.0 0.0
7| el - - - - ; - - ; ; ;
SAIT=l ESTC
100 o & o] of 742 258 1000 686 146 22 66 36 44 0.0
100 ~ 2008t 0|t 361 63.9 1000 61.2 17.1 33 9.9 46 26 13
200 ~ 3000tgiojot 464 536 1000 67.6 108 8.1 108 0.0 27 0.0
300 ~ 4008t O|H 613 38.7 1000 250 333 167 83 83 83 0.0
400 ~ 5008tI0|GH 905 95 1000 50.0 00 50.0 0.0 0.0 0.0 0.0
500 ~ 6003+QIO[EH 833 16.7 1000 1000 00 0.0 0.0 0.0 0.0 0.0
600 ~ 7008+2I0[BH 1000 00 00 00 00 0.0 0.0 0.0 0.0 0.0
700 ob 9 o] A 750 250 1000 1000 00 00 00 00 0.0 0.0
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(E2l %
e | 2ot wE Xk pame) | s paan | wslgane | N ogael | e o |
SR ma | msaw | omm | owaw | e 214t
2 0 1 7 11.2 14.0 10.1 18.4 24.0 18.6 3.8 0.0
<X oo >
A x| 9 6.6 11.0 129 218 284 17.5 18 0.1
B x| e 18.0 18.4 5.8 13.2 17.6 20.2 6.8 0.0
< M Hoo>
= Xt 11.0 10.7 9.3 213 256 17.5 4.6 0.0
o Xt 113 17.0 10.8 15.7 226 19.6 3.0 0.1
<oy oE
E S 154 16.1 7.2 11.2 247 245 0.8 0.1
= S 7.9 15.0 1555 228 20.0 17.3 1.6 0.0
i S 11.0 121 9.5 243 21.0 18.7 34 0.0
]| S 4.8 11.0 125 214 311 6.2 13.0 0.0
<" Yoy
o 2| x| 0.0 11.2 123 333 37.0 0.0 6.2 0.0
MBI Z=HE7 13.2 1555 10.0 9.9 29.6 3.0 18.9 0.0
At 2 x| 0.0 10.2 214 285 315 54 3.0 0.0
AN H A& T oOf % 7.8 10.3 16.2 19.7 26.1 12.7 7.3 0.0
s 8 = & 3 16.6 10.3 83 16.3 285 17.3 2.6 0.2
e’ 7| A=A 6.4 30.0 5.6 25.0 14.3 18.7 0.0 0.0
oo 2 O 19.5 5.6 10.2 10.1 30.1 17.8 6.7 0.0
oy = =] 117 211 76 138 215 238 05 0.0
7] el 58 123 106 266 1538 2438 40 0.0
<@ @ E >
15 ~ 19 A 47 221 221 38.7 0.0 124 0.0 0.0
20 ~ 29 N 0.0 7.7 151 264 193 21.7 9.8 0.0
30 ~ 39 A 15.6 17.3 10.7 174 25.7 22 112 0.0
40 ~ 49 N 12.6 10.5 13.2 21.8 222 10.0 9.7 0.0
50 ~ 59 A 6.3 137 9.0 254 26.7 174 14 0.0
60 Al o A 151 15.2 7.5 10.9 25.8 243 1.0 01
65 A o A 16.0 161 7.5 94 249 251 1.0 01
<ANe ZRE>
o5 F Hf 145 12.8 83 13.6 27.2 20.9 29 0.0
of ot E 24 7.7 146 154 349 34 21.7 0.0
a 8 F EHf 3.8 161 6.3 25.8 193 24.6 43 0.0
oF oM o = = 333 333 0.0 0.0 333 0.0 0.0 0.0
7] Bt ; - ; ; - - - -
ST ES T
100 2t @ o ot 16.5 158 5.2 101 254 25.2 17 0.0
100 ~ 2002+ 0| Tt 120 9.1 9.2 17.8 30.8 17.7 34 0.0
200 ~ 3002+ O Tt 9.6 164 10.6 157 26.9 12.3 8.5 0.0
300 ~ 4002+ 0| Tt 47 17.3 19.6 137 349 9.9 0.0 0.0
400 ~ 500t 0]3t 5.6 0.0 233 16.6 36.2 9.8 8.5 0.0
500 ~ 6002 0| Tt 5.9 0.0 0.0 294 0.0 9.8 55.0 0.0
600 ~ 700C+ O Tt 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0
700 oF & o] & 311 0.0 18.0 236 0.0 273 0.0 0.0
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(et
ER R e Sk gl ol o H SIH M| s0
%8 3ne | HEM SEN D Blumaan | TRL | ewn | gen [TEDAEEIOC
o
2 0 1 7 25.6 27.3 14.0 19.0 1.9 0.8 3.9 14 6.1
< W98 >
A x| 9 255 38.6 6.0 179 1.9 0.9 5.7 0.1 35
B x| o 257 105 26.0 207 18 06 12 35 10.0
< M Hoo>
= Xt 28.2 276 134 18.5 23 0.8 22 19 51
of x| 231 270 14.6 196 14 08 55 10 7.0
<% o® o8 >
E S 236 245 189 15.6 17 11 4.7 11 8.8
= S 213 28.6 12.6 249 2.0 0.7 24 0.5 7.0
i S 30.5 29.6 10.3 16.8 33 0.4 3.8 12 41
]| S 263 289 10.2 249 0.0 0.7 3.6 33 21
I
o 2| x| 204 339 9.2 226 8.1 29 29 0.0 0.0
MBI E=HE7 195 32.0 33 228 39 2.6 6.8 8.2 0.9
At 2 x| 285 36.2 5.2 242 0.0 0.0 3.0 0.0 3.0
AN H A& T oOf % 283 224 9.9 276 27 0.9 43 13 25
s 8 = & 3 246 274 17.6 16.0 15 0.7 32 0.5 8.5
e’ 7| A=A 26.9 26.9 8.6 294 0.0 0.0 37 0.0 45
oo 2 O 319 191 22.8 131 6.7 0.0 13 0.0 5.2
2} ® = 8| 25 27.7 16.1 184 12 06 46 17 7.2
7] et| 295 276 118 176 14 08 39 17 57
<o g
15 ~ 19 A 221 326 7.8 23.2 31 0.0 47 0.0 6.6
20 ~ 29 N 435 244 49 22.0 0.0 0.0 51 0.0 0.0
30 ~ 39 A 30.6 345 42 242 42 0.0 0.0 0.0 22
40 ~ 49 N 221 25.6 16.6 21.2 0.9 16 4.0 43 3.6
50 ~ 59 A 25.2 273 12.0 213 2.5 0.4 45 12 55
60 Al o A 22.7 26.5 18.1 15.9 18 0.9 4.0 14 8.7
65 A o A 221 26.0 18.5 16.2 2.0 0.8 39 15 8.9
<ANo BRY>
o5 F Hf 234 26.1 17.8 16.5 16 0.7 4.0 24 77
of ot E 219 26.7 9.5 26.9 6.8 53 29 0.0 0.0
a 8 F EHf 304 28.9 115 248 0.0 0.0 31 0.0 13
ob oM o = = 333 66.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7] gl - ; ; ; - - - - -
ST ES T
100 2t @ o ot 216 249 204 14.9 1.0 11 41 15 104
100 ~ 2002+ 0| Tt 249 25.0 16.6 16.5 31 15 51 21 51
200 ~ 3002+ O Tt 304 289 13.0 184 21 0.0 0.7 44 21
300 ~ 4002+ 0| Tt 184 434 8.7 174 31 0.0 16 33 41
400 ~ 500t 0]3t 20.0 35.5 4.2 347 0.0 0.0 5.6 0.0 0.0
500 ~ 6002 0| Tt 15.6 19.6 9.8 55.0 0.0 0.0 0.0 0.0 0.0
600 ~ 7002t 0/2H  100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 2+ 2 o] A 58.3 23.6 0.0 18.0 0.0 0.0 0.0 0.0 0.0

AE  BAEE,T2017 Y ARSI AL,

- 504 -



37. X|Y¥
37-1. #of of%

=H|-

=2} WA}

=x

=] I-O:I F=

o HHH
ozt olct

o 2 o 7t "= o 7t o 2

o = o = ° 2oz gox
2 0 1 7 63.7 46.9 32.8 19.3 0.3 0.7
< X o ¥ >
A x| 9 726 526 29.7 173 0.4 0.0
B x| 9 50.4 339 39.8 240 0.0 23
< M H >
=1 Kt 67.9 42.5 347 21.8 0.5 0.5
o Kt 59.8 51.5 30.8 16.7 0.0 0.9
< 8% 3 o8 >
EN = 52.8 534 28.9 16.9 0.0 0.7
= ES 67.5 55.3 293 145 0.5 0.4
i ES 723 40.5 385 205 0.0 0.5
CH ES 715 38.6 336 25.7 1.0 11
< % A8 >
ot 2| S| 784 37.6 40.3 10.3 0.0 118
HMEJ}ZFHET} 78.6 54.0 337 123 0.0 0.0
At =2 S| 85.7 29.8 435 232 35 0.0
M H A T Of = 68.3 353 329 319 0.0 0.0
s & = & F 741 49.7 27.0 217 0.2 13
@, 7| AZ=E R 62.3 314 333 353 0.0 0.0
s e 2O 59.2 413 19.8 389 0.0 0.0
¥ OF 2 52.8 56.5 284 151 0.0 0.0
7| Et 52.6 444 48.5 6.7 0.0 0.4
<482 >
15 ~ 19 A 74.5 58.2 41.8 0.0 0.0 0.0
20 ~ 29 A 66.0 34.0 55.2 10.8 0.0 0.0
30 ~ 39 A 822 40.3 29.6 30.1 0.0 0.0
40  ~ 49 A 64.5 35.0 254 36.4 15 17
50 ~ 59 A 70.1 48.2 31.0 20.0 0.0 0.7
60 Al o] & 55.4 53.8 29.8 15.6 0.2 0.6
65 Al o] & 51.9 55.7 287 14.8 0.3 0.5
<HANe FRE>
o5 F H 59.9 47.8 316 193 0.6 0.7
of ot E 65.1 61.4 26.6 12.0 0.0 0.0
a & F E 69.3 243 52.8 229 0.0 0.0
Ct M CH Z= EH 100.0 333 0.0 66.7 0.0 0.0
7 E - - - - - -
ST BB WS
100 9t & O] ot 46.5 51.9 331 143 0.4 0.4
100 ~ 2002t Of 2t 719 477 313 19.8 0.0 13
200 ~ 3002+l 0|2t 77.9 444 20.6 35.0 0.0 0.0
300 ~ 4002+l 0|2t 80.7 493 433 21 53 0.0
400 ~ 500%t@i0 2t 78.2 435 321 244 0.0 0.0
500 ~ 6002t 0f 2t 45.0 0.0 783 217 0.0 0.0
600 ~ 7002+l O] 2t 100.0 0.0 100.0 0.0 0.0 0.0
700 9t & o A+ 49.1 0.0 36.7 63.3 0.0 0.0
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37-2. g0 HEE0|247taxN S E=olgotetEe])

(5491 : %)

Ol=d7taH

M=ol wotatEye]

O A R BT B T I B A IR R L
o= o= =0E =0E o= o= == ==

2 0 1 7] 429 34.0 18.9 33 0.9 24.7 245 437 7.1 0.0
< X o B >

A x| ol 482 353 12.6 39 0.0 26.6 354 371 0.9 0.0
B x| gl 296 30.7 347 138 32 21.8 6.7 54.3 17.2 0.0
< M Hoo>

Lt XH 359 353 26.9 0.8 11 26.8 16.5 514 53 0.0
o XH 507 326 9.9 6.0 0.7 203 41.8 271 10.9 0.0
< % 38 >

E Z| 547 243 18.8 0.0 22 7.8 65.0 20.1 7.0 0.0
= ZE| 424 46.2 8.8 18 0.8 54.5 342 114 0.0 0.0
il ZE| 414 334 243 0.0 0.9 212 10.6 58.1 10.0 0.0
]| Z| 361 317 17.9 143 0.0 174 317 44.6 6.3 0.0
<" g8 >

Zt 2| =l 332 50.3 0.0 16.5 0.0 16.4 0.0 59.2 245 0.0
MEJDHF, =™ E7H 510 39.8 0.0 9.2 0.0 16.2 19.5 64.3 0.0 0.0
Ab =1 274 40.1 15.6 16.9 0.0 7.3 61.0 317 0.0 0.0
M H A @ oOf ®| 572 275 9.8 5.6 0.0 357 141 50.2 0.0 0.0
s 2 £ A Z| 444 293 233 0.0 3.0 439 153 224 184 0.0
s, 7| A== 170 48.6 344 0.0 0.0 0.0 0.0 100.0 0.0 0.0
o= = 2 X| 505 49.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
283 F=  EH| 640 28.8 7.2 0.0 0.0 232 60.0 9.4 7.3 0.0
7] Et| 16.7 40.6 427 0.0 0.0 19.8 19.8 60.4 0.0 0.0
S

15 ~ 19 M| 241 75.9 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0
20 ~ 29 M| 160 8.0 60.0 16.0 0.0 0.0 10.5 89.5 0.0 0.0
30 ~ 39 M| 564 313 123 0.0 0.0 0.0 50.9 49.1 0.0 0.0
40 ~ 49 M| 301 37.2 243 84 0.0 15.0 22,6 40.2 222 0.0
50 ~ 59 M| 506 337 14.2 0.0 15 55.2 115 274 5.9 0.0
60 Al o] A 556 31.0 121 0.0 14 26.1 432 25.0 5.7 0.0
65 Al o] A 567 30.2 12.2 0.0 0.9 15.5 56.9 13.8 138 0.0
<HHe ERE>

o &5 F  EHl 439 333 179 33 15 417 15.5 28.7 14.0 0.0
of a} E| 456 426 118 0.0 0.0 135 7.2 79.2 0.0 0.0
o g F EHl 230 58.9 181 0.0 0.0 0.0 100.0 0.0 0.0 0.0
CF M CH Z= EH 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7] Ef - - - - - - - - - -
SAIT=EI ES T

100 9+ @ o] 9 571 325 104 0.0 0.0 381 25.0 25.2 11.8 0.0
100 ~ 2000t 0|0 415 318 204 37 26 43.6 183 381 0.0 0.0
200 ~ 3002t@OJTH 502 23.8 26.0 0.0 0.0 342 5.7 212 388 0.0
300 ~ 4000t0O|TH 138 743 33 8.6 0.0 15.0 20.1 65.0 0.0 0.0
400 ~ 5002tLi0|3tH 462 348 19.0 0.0 0.0 44.8 0.0 55.2 0.0 0.0
500 ~ 6002 0| Tt 0.0 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
600 ~ 700+ O Tt 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
700 ot 2 o] & 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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37-3. MO BEEGIA MEH Y o HULANSH )
(EH2] %)
L4 HER| oYK AMSZOZ

S e TR T S T T T T A O IRV I 0

S o= == == o E o E == ==
2 0 1 7] 27.6 40.4 229 7.4 1.7 46.6 43.6 7.8 1.5 0.5
< X o B >
A x| Al 325 229 35.0 6.5 3.0 48.8 37.8 10.3 24 0.7
B x| o 211 63.1 7.2 8.6 0.0 43.0 53.2 37 0.0 0.0
< M Hoo>
Lt XH 243 497 19.7 37 26 44.0 47.7 7.6 0.0 0.7
o XH 341 21.8 294 14.7 0.0 51.5 36.0 83 43 0.0
< 8% B ¥ >
= Z| 296 228 36.5 11.0 0.0 54.0 373 8.7 0.0 0.0
= Z| 365 321 314 0.0 0.0 59.2 341 6.7 0.0 0.0
ni ZE| 257 60.6 8.7 5.0 0.0 432 52.5 44 0.0 0.0
]| ZE| 233 14.0 38.6 16.6 7.3 313 451 13.7 7.5 23
<" g8 >
Zt 2| 223 199 15.2 426 0.0 50.6 223 144 0.0 12.6
MEJZHEI 124 38.6 15.0 340 0.0 26.2 59.3 26 119 0.0
At = | 157 213 63.1 0.0 0.0 27.6 36.3 36.1 0.0 0.0
M H A T Oj =] 283 20.8 50.9 0.0 0.0 337 55.0 113 0.0 0.0
= 2 £ M Z| 428 26.5 18.8 6.7 5.2 56.5 35.8 77 0.0 0.0
Jlsd, 7| A== 302 0.0 69.8 0.0 0.0 24.2 57.7 18.1 0.0 0.0
s 2 2 A 0.0 0.0 0.0 0.0 0.0 25.0 524 22.7 0.0 0.0
2 3z B[ 487 389 124 0.0 0.0 56.0 36.0 37 43 0.0
7] Et 9.8 77.2 131 0.0 0.0 40.6 58.3 11 0.0 0.0
<@ B8 >
15 ~ 19 M| 232 384 384 0.0 0.0 52.5 47.5 0.0 0.0 0.0
20 ~ 29 M 0.0 89.5 0.0 10.5 0.0 22.7 69.2 0.0 8.2 0.0
30 ~ 39 A 0.0 0.0 50.0 0.0 50.0 20.2 59.7 9.9 10.3 0.0
40 ~ 49 M| 302 237 341 12.0 0.0 36.6 438 16.7 0.0 29
50 ~ 59 M| 452 274 23.0 44 0.0 49.9 444 5.7 0.0 0.0
60 A 0] At 484 24.8 23.0 37 0.0 58.8 326 8.6 0.0 0.0
65 A 0] A 5938 29.1 111 0.0 0.0 59.1 329 81 0.0 0.0
<HXNCO ZERE>
b & ZF=  EHl 432 344 14.3 8.0 0.0 53.6 39.0 7.4 0.0 0.0
of it E| 230 18.7 40.2 0.0 18.1 309 46.6 22.6 0.0 0.0
o 2 = Ed 0.0 0.0 100.0 0.0 0.0 416 37.7 0.0 0.0 20.8
Ct M Cj = EH 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
7] Ef - - - - - - - - - -
SAIT=EI ES T
100 Bt & 0O g 506 323 17.1 0.0 0.0 60.3 36.2 35 0.0 0.0
100 ~ 2008tiO)2t  49.7 320 9.8 8.4 0.0 51.2 424 6.4 0.0 0.0
200 ~ 3002tO0/0H 133 385 331 0.0 15.1 421 42.5 154 0.0 0.0
300 ~ 4008tiO)8t  29.7 22.0 29.7 18.6 0.0 47.3 34.8 18.0 0.0 0.0
400 ~ 500203 448 0.0 55.2 0.0 0.0 50.8 354 138 0.0 0.0
500 ~ 6003+ O] 2t 0.0 0.0 0.0 0.0 0.0 385 23.0 0.0 0.0 385
600 ~ 7002+ O/ 0t 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
700 ot 2 o] A 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
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37-4. 0|&0] 0|9

(31 %)
o120 ol
aofet =
atct FHBNT 2y o | THIEN Flanygol of| agol 2
24 | = e et TV D Bl g0t | et
SE o gom| S e 2ot a

2 0o 1 7] 363 1000 05 436 05 16 21.9 163 157
<x o8 >
A ®m @ 274 1000 09 465 05 23 117 222 158
B X 9 496 1000 0.2 411 04 09 303 114 157
< M Hoo>
o x| 321 1000 03 512 03 24 147 199 112
of x| 402 1000 07 37.9 06 09 272 136 19.1
<o s
ES 5| 472 1000 07 215 09 07 399 93 27.0
5 5| 325 1000 11 500 0.0 37 45 265 53
2 s| 277 1000 0.0 65.0 0.0 31 39 224 56
o} 5| 285 1000 0.0 774 0.0 0.0 0.0 226 0.0
<®YgE >
# a2 ™l 216 1000 0.0 1000 0.0 0.0 0.0 0.0 0.0
MeJ EMEI 214 1000 0.0 809 0.0 19.1 0.0 0.0 0.0
A8 =] 143 1000 0.0 617 0.0 0.0 0.0 383 0.0
MH AT oI 317 1000 0.0 747 0.0 30 0.0 211 13
s g + & ™| 259 1000 0.0 621 0.0 19 16.9 7.2 119
IS AR 377 1000 0.0 68.1 0.0 0.0 0.0 319 0.0
B o& & 2 x| 408 1000 0.0 574 0.0 0.0 270 107 49
dom ox o8| 472 1000 12 208 11 04 364 122 280
7) e 474 1000 05 360 05 10 200 278 143
<@ @ g >
15 ~ 19 M| 255 1000 0.0 87.9 0.0 0.0 0.0 121 0.0
20 ~ 29 A| 340 1000 0.0 497 0.0 0.0 0.0 50.3 0.0
0~ 39 A| 178 1000 0.0 1000 0.0 0.0 0.0 0.0 0.0
20 ~ 49 H| 355 1000 0.0 694 0.0 46 6.1 178 21
50~ 59 Al 299 1000 0.0 60.7 0.0 24 13.0 148 0.0
60 M o | 446 1000 09 222 09 09 346 123 28.2
65 M o A 481 1000 07 188 10 07 371 114 303
<HXMO ZRE>
¢ o= x o 401 1000 04 297 0.2 09 301 150 237
of m  E| 349 1000 0.0 783 0.0 133 0.0 83 0.0
o @ x = 307 1000 0.0 826 0.0 49 44 8.2 0.0
o Moo ox o oo 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0
ol g - : : : _ _ _ : :
ST ES T
100 @ @ o i 535 1000 06 156 03 08 392 127 307
100 ~ 2008t O[st| 281 1000 0.0 57.2 0.0 6.1 120 17.2 74
200 ~ 3008t@ID[3H 221 1000 0.0 64.1 0.0 0.0 0.0 326 33
300 ~ 4008tim[st| 193 1000 0.0 774 0.0 0.0 0.0 14.1 8.4
400 ~ 5002rA0[BH 218 1000 0.0 1000 0.0 0.0 0.0 0.0 00
500 ~ 600BHRUO[BH 550 1000 0.0 1000 0.0 0.0 0.0 00 0.0
600 ~ 7008t2ID[3H 00 0.0 0.0 0.0 0.0 0.0 0.0 00 0.0
700 8t @ o & 509 1000 0.0 1000 0.0 0.0 0.0 0.0 0.0
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